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Which of the following is/are true regarding drafting committee of the constituent
Assembly?

1. It was formed with seven members

2. Chairman of the committee was B. R. Ambedkar

3. It was set up on August 29, 1946

a.1,2 b.2,3 c. 2 only

d.1,2and 3 e. Answer not known
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2 culenloWITegl 61517
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Choose the right answer about the constituent assembly

(i). 15 Women members were there in the assembly

(ii). H.V.R. Iyengar was secretary of the constituent assembly.

a.ionly b. ii only c.iandii

d. None of the above e. Answer not known

SIFFlwed miTewil Fenuenwll GUTBISHSH Flwmer el smensd CpiTey GFuIs.
(i) Birewrw semuuled 15 Quewt o mIITerTa6T EhbBHeT

(i) owdwed mlitewiu seuuien QFweogtes HVR eguimisty GQeuwedu LT
a.i L@ b.ii w (Gib c.i oBmb ii

d. GumampPw agefeoeme e. el Gafuialsdemsv

Consider the following

Assertion (A): Representative democracy is being followed in USA and India
Reason (R) :People can be involved directly in law making

a. Both (A), (R) are true and (R) is the correct explanation

b. Both (A), (R) are true and (R) is not the correct explanation of (A)

c. (A) is true, (R) is false

d. (A) is false, (R) is true

e. Answer not known

UeaiTeu(heueiouBens SpUiIs

apm (A):owissTalend SbdHwmalan LFHHHsHe wohsemtld wemnp LeauBpriubaBng
smyewd (R) s Lb QuBpieudsd woser Chrouits FHLIGSSTBEIT

(A), (R) ggemipw af, (R) auerg sfwner alerdsid

b. (A) ,(R)@gemipw &M, (R) apeig (A) a1 sflwner alenssiosen

c. (A) g0, (R) seumi

d. (A) seum, (R) &

e. alenL Oz flwalsvenso
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With reference to democracy, consider the following statements:

1. Birth place of Democracy is Greece

2. Direct democracy involves people directly as in Switzerland

3. Representative democracy involves people indirectly as in UK.
Which of the above statement is/are correct?

a.1land 2 only b. 2 and 3 only c.l and 3 only

d.1,2and 3 e. Answer not known
wéHHMTLFenwil uBpsiuw LTeTeUhld FnBBISeneT  SLITUIGLD.
1. wésenm duller Bl &liferd

2. Gmrg dHHeNTd  eTEILSI gall_greonbdHlev o eentensll Gumev CHIQWITS DB
2 6oL S&LIG|.

3. Urgdpdsaen  wwdsenmld  @ridleonhHed o eiengl  GUTSID  LDHHEMET  LDEDB(LPSHLOTS
IO (01 (I X V0|

GuomsemniL gmBmidHeriley Fflwmerg e1g?

a. 1,2 B b. 2, 3 w @ c. 1, 3 w G

d. 1, 2, 3 e. alewL GaMuwealsvemev

Consider the following statements regarding democracy in the world

i. Switzerland was the first country to allow women to vote
ii. UNO General assembly resolved to observe 15th September as International
Day of Democracy in 2009
Which of the above statement is/are correct?
a.ionly b. ii only c. Bothiand ii
d. Neither i nor ii e. Answer not known
® P& LSBT F QHTLTUTE LoD SnBBISemen SLITUIaLD.
1. CuetTBEHHEG aUTHH6THE DIMILS UPRISIL (PHeO BTH Sl STeOTHSI
il. UNO Ourgisgenu Gatibur 15 b GCaxdHeow sT1aulss wésenmld  Heors

smLLUgsHs 2009 60 SHToTeNSHSHH
GuoBseniL dmBBISeiled Fflwmerg e1gl?
a.i @B b.ii @b C.1,ii @yewi(p
d.i wBm il BrevHLisvemev e. alewL Gxfuwelsdemsv

Consider the following statements with respect to languages of India

i. Indian constitution recognizes twenty-two languages as official languages

ii. As per 2011 census, Hindi is spoken by more than 50% of population.

Which of the above statement is/are correct?

a.ionly b. ii only c. Bothiandii

d. Neither i not ii e. Answer not known

@hgwraler OGwmpser uBBlw LlSeubD FaBBIsmen SLITUIR|LD.

1. @hFHw SITFUIG0MLOLILF FLLID 22 Qomplsemnern SIGVIRIED QmpsenTas
DRSS HBHI6T6NH

ii. 2011 1066l OFHTND SHMHOBGBLIIGILY, 50% &GS AHBTHT  0SHNMTeL  BHI)
GualiupBFBaI.

GuBampiw gBpiseed sflwraimnsd CHis

a.1 B b.ii B c.i,ii @yewiBid

d.i By i GrevGLilsoemen e. alewL OHfwaledenew

Which of the following is correctly matched with respect to classical language status?
I. Tamil - 2004 II. Sanskrit - 2005

I1I. Telugu - 2006 IV. Oriya - 2016

How many pairs given above are correctly matched?

a. Only one pair b. Only two pairs c. Only three pairs

d. all four pairs e. Answer not known
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CaFOTY SIHHeOmSHL CUTBIGHSH Ll melaiauBpled Ffluwms GuUTmbEHILIeHe 617

[. s01p - 2004 II. swebdmad - 2005

III. GzpeumE — 2006 IV. g@flur — 2016

GoBaeni Qemeuseied FiwTsll CUTHHHIUSH 6157

a. @81 @ Bmewt b. &m Bmewisei C. 3 ®enewikelT (LD
d. 4 @evemiamEpid e. alenL Gafwealsvemnso

Consider the following

Assertion (A): Indian constitution was completed by the constituent assembly on 26th
November 1949.

Reason (R): Congress unofficially declared 26th November as Day of Poorna Swaraj in
1930

a. (A) is false, (R) is true

b. (A) is true, (R) is false

c. Both (A) and (R) are true, but (R) is not a correct explanation of (A)

d. Both (A) and (R) are true, but (R) is a correct explanation of (A)

e. Answer not known

LedTeu(hHeueaTauBens LIS

appl (A) : @b  sydwevenoli], SIFcd [BiTewil FUUITED [HeubuT 26, 1949 60
W& 5LIGLIBBSI

smyenid (R) : smmdyed oigdsmyliyouodp wepulsd 1930 meubum 26 b Capdlenwl Lyyeuwr
&ZbIT Heanors Sfealsss!.

a. (A) saup (R) &

b. (A) &f, (R) seupi

c. (A), wpp (R) @yemen af, syemed (R) syerg (A) e sflumer elendsioaen

d. (A) wppd (R) @yewin &af, eyemmed (R) euerg (A) e gflwrer alensaslon@Ld

e. alewL O flwealsvenso

On which of the following days Gram Sabha meetings held?

1. January 26 2. March 22 3.May 1 4. October 2

5. August 15 6. November 1

Which of the following dates are correct?

a. All the above b.1, 3,4, 5only c.1,2,3,4only
d.1,2,3,4,5o0nly e. Answer not known

SIDSHHEWIL UBMBIGT 6lhFH BT H6Med &FTogenL dnl LLb HewL GLBISBa?

1. mereufl 26 2. ITEF 22 3. G 1 4. o&CLmuT 2
5. &p@erol 15 6. meubuir 1

Weiteupd CapdHaefled gflwimeng e1g?

a. CuBsawi. SEmarsEHId b, 1,345 wl Bbd c. 1,234 wl @B
d. 1,2,3.45 wl G e. alewL Oxflwaledenev

With reference to local bodies, consider the following statements

1. Tamil Nadu was the first state to introduce a town panchayat in the whole of India
2. Mayor is the first citizen of a city in India

3. Panchayati Raj Act was enacted on April 24, 1993

4. Chennai corporation was founded in 1688

Which of the above statements is/are correct?

a. 1 only b.1, 2 only c.1,2and 4 only

d. All of these e. Answer not known
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12.

13.

o eitenml_ & oiewwlilsemen QUTBISS LISeUHD FnBBISenen SLITUIGLD

1. @hHwralGsoBuw (p&He0 (WPedBWTES BHEHJL UehSTUHMmS DBPSLILGHSHUW  (LpSGH6e0  LOTHIeVLD
SDBT(H

2. @phAHAW BBETHH (IPH60 GHIgLseT GowiT SLeuTiT

3. UEhFTWSHSEH JTTY FLLID gLUIed 24, 1993 oaim QuiBmLUL L .

4. OQgerener LOMHTHIL S 1688 60 BmieuliUL L

GuomseniL gmBmidHeriley Fflwmerg e1gl?

a. 1 wl@w b. 1, 2 c. 1, 2, 4 w @

d. Bmen SWRISHHID e. alenL QxfNwelsvensv

Consider the following

Assertion (A): The value of vote of the Prime Minister and the value of vote of the
common man in general election is same in India

Reason (R) :Political equality is guaranteed in the constitution through Article 325, 326
a. Both (A) and (R) are true and (R) is the correct explanation of (A)

b. Both (A) and (R) are true and (R) is not the correct explanation of (A)

c. (A) is true, but (R) is false

d. (A) is false, but (R) is true

e. Answer not known

LedTeu(mHeueTeuBens  SuJmu1H

apmp (A) : @bdw Oursis Csieeled LIFswReET auTsE@ I, @b CUTHIDSS6! 60
aUTdh@ WLHILD FEWD SGLD.

snyenid (R) : opdweventoriier 325, wB@Id 326 agrsHSHIH6T cpeold SFdisd FoHgHIeuUD

o Mg OFuiwliul (hetengi.

a. (A) (R) gremi &M, (R) eyl (A) sflwrer ellendasd

b. (A) (R) gyemipw &f, (R) aweig (A) a1 sflwmer alenssiosen

c. (A) M, (R) seumi

d. (A) seum, (R) &

e. alemL OFifuialsoemev

Which of the following are regarded as the main features of “Rule of law”?

1. Equality before law 2. Limitations of powers
Select the correct answer from the below code

a.1land 2 only b. 1 only c.2only
d. Neither 1 nor 2 e. Answer not known

LereupeuaiouBpled SLLSHHleT Sl Femwlll GUTBISHSH (PSS UWILDTERT DIDFRISNMTES SH(HSLILIBHEUS
o117

l. glLSFeT (el FOHBHIAUD

2. SIHSMT eUILDL|SH6IT

&6 o eiten GUIUTL9edlBbHa Fllwmer uglemev BsiThosH B

a. 1,2 B b. 1 w @b C. 2 L (pd

d. 1,2 @yemiGiievensv e. alewL Gafuwealsvemev

Consider the following describes the best definition to “Equality”

1. Absence of privileges to any section of society

2. Provision of adequate opportunities for all individuals without any discrimination

Which of the above statements is/are correct?

a.1only b. 2 only c.Both1 &2

d. Neither 1 nor 2 e. Answer not known

“FLDHGHIUD” GTITLIHET auenTUImBenW  Llsiiaumheuateupmle Fpiiums elleufliiug e1g?

1. FpssHPHar 6bHoeunm Lifleuaimb@Hld FelmepHeT Ee0e0THH

2. ehHOeuTH UTGHUTHBD  E606VTIDE0  DIMETHSHI HNBLTHEHEGD CUTHIDTET  EUTUILILISHEM6TT
6ULDMRISH H6V
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15.

16.

17.

GuomsemniL gmBmiseriley Fflwimerg e1gl?
a. 1 wl’ @b b. 2 w' @G c. 1,2 @yewiBid
d. 1,2 gyemipiievenev e. alewL Gafuwalsdenso

Consider the following statements regarding the state executive

1. State executive consists of Chief Minister and Council of Ministers only
2. Leader of majority party is appointed as Chief Minister by the Governor
Which of the above statements is/are correct?

a.1only b. 2 only c. Both1and 2

d. Neither 1 nor 2 e. Answer not known

LOTH60 HITeuTsd QHTLTUTET Li6Teu(hD FnBBISHEM6NT SLITUIRLD.

1. (WPpFHeoalT LBBID DIEHFFTH6T G WL HOW mBlev HiTeuTdlser

2. QuEBDUTSEIEHD S Ul HEmeVUT (LPHELEUTTH SLEHHITED HIULILOSSILIBESIMITT.
a. 1 LB b. 2 wl @b c. 1.2 @yewid

d. 1,2 @yewiGuilevensy e. alewL Gafuwaledenso

Which of the following is/are true regarding High Courts in India?

1. As per Indian constitution there shall be a high court in each state

2. Number of judges in the High court is uniform

3. Governor appoints the Chief Justice of High court

a.1only b. 2 only c.1and 3 only

d. All of these e. Answer not known

@hFHwraled o efern o WMHHIOSBHRISMETL QUTBISSH Llarelrm eusieuBnsled gflwmerg eg?
ObhHw  ofwevenoliier Uy et  IHLVSHNID @h 2 WIHIIBD  HdHd
Geuemi(BLD

2 &mﬁg’?@wa&mg}ﬁ@h pAHUHSeiller elewienlldbend @O rHflurs o eeng

3. 2 WIHAHISIB SHemevenld HEHLSenul SLEHBT HuIdda BT

a. 1 L b. 2 w @Gw c. 1 Bmib 3 wl Bb

d. 8meu SEMRNISHSHID e. alenL QxfNwealsdensv

[

Consider the following

Assertion (A): Lok Sabha can remove the Council of Ministers headed by the Prime
Minister by passing a vote of no confidence

Reason (R) : Ministers are collectively responsible to Lok Sabha

a. Both (A) and (R) are true and R is the correct explanation of (A)

b. Both (A) and (R) are true and R is not the correct explanation of (A)

c. (A) is true but (R) is false

d. (A) is false but (R) is true

e. Answer not known

LelTeu(hHeueaTauBens LIS

apm (A) : poUsmauisbeor Siomend BanpGaBBieuseT cweod LTSN SHenevenLouieomen
DIMFFTMOUS (G (LDEM6Y LDSHBETENUWLITED [HHS (LPIQULD

smyewid (R) : oimwssiser whserameasb@ hl(Br GCUITBIILEDL WTSH6I

a. (A) wppd (R) gremiew af, (R) ez (A) e sflwmer alendaor@d

b. (A) wBpw (R) Gremew &M, (R) awerg (A) e sflwrer alersasioseo

c. (A) a0, (R) seumi

d. (A) seum, (R) &

e. alewL OFflwealsdeneo

Match the following

Name of the Party Symbol
A. Shiv Sena 1. Ladder
B. Janatal Dal (U) 2. Arrow

C. Indian union Muslim league 3. Bow and Arrow
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A B C
a. 1 2 3
b. 3 2 1
C. 3 1 2
d. 1 3 2
e. Answer not known
QUTHHHIS.
&l Fuler GuuwiT & evtenTiD
A. FouBset 1. 6Jeuof
B. mewgm senp (U) 2. by
C. @bHw welwest (werbedd 655 3. afled WBBID DL
A B C
a 1 2 3
b. 3 2 1
C. 3 1 2
d 1 3 2
e. alewL Oaflwelsenso

18.  Which of the following are mandatory requirements to form a political party in India?
1. It needs to have atleast 100 members with Voter Identification Card
2. It needs to have a party constitution
3. It needs to register with Election commission of India
a.1and 2 only b. 1 and 3 only c.2and 3 only

d.1,2and 3 e. Answer not known

@hFHwraled ofluied &L Femwl o (Haurdhsd CoHemeuwiter U LTwd CHemeuser ereneu?
1. aUTSHSTNT DI ML MmeUSHBHIENEN GHMBHISULFD 100 o _milelmsamend OHTemmighHdbd
Bouemt(BLD

2. 915 @ &L pdweomilienl Csmemngmebs Golewmt(BLd

3. 913 @b BCaTHed GpameamiusHHe0 ULHe] CFUIINLLIYHES Gouewi(BLD.

a. 1 wBmpb 2 @b b. 1 wBpb 3 w G C. 2 wBmib 3 wl Bb

d. 1,2 wBpd 3 e. alewL Gafuwalsdenso

19.  Consider the following statements with reference to “Consumer Protection Act, 2019”
1. It included for the first time “e-commerce transactions” for consumer protection
2. No words were given on unfair trade practices
3. Central Consumer Protection Authority (CCPA) would be established
a. 1 only b.1and 2 only c.1and 3 only
d.1,2and 3 e. Answer not known
BISTCTT umguTOY UL 2019 U QUIBISS LNeTeU(HD FnBmISHEmeT SLITUIGLD.
. @3 W3O (Weopwnsd HSTCuTT utgisTiiBats “Sar eaelles LfaTdsHmersamen’
IO () (I X ALY
2. BHWmwoBs aliTfshsHs Bl (peBHel UBsl asab GBUULiuL alebenev
3. wHIW HISTCTT LUTHISTIL DLENeRIWLID HBIUSBE (WTOLTHSBSI
a. 1 L (B b. 1 wBpwb 2 W @G c. 1,3 (b
d. 1,23 e. alewL OxfNwaledenew

20.  Match the following

List1 List II

A. Essential Commodities Act 1. 2009
B. Bureau of Indian Standards Act 2.1955
C. Legal Metrology Act 3.2019
D. Consumer Protection Amendment Act 4. 1986
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21.

22.

A B C D
a 4 2 3 1
b 2 4 1 3
C 2 4 3 1
d 4 2 1 3
e. Answer not known
QUTHHHIS.
uligwed I uligwiev 1T
A. oipHwmeudlw QuUTHL &6l FLULID 1. 2009
B. @bsdw syBlensv uewilwis FU LD 2. 1955
C. gslL genaluied FULID 3. 2019
D. m&iGaun umgismiy HpHHFa LD 4. 1986

A B C D

a. 4 2 3 1
b. 2 4 1 3
C. 2 4 3 1
d 4 2 1 3

e. alowL  GgMwalsvenso

Consider the following statements regarding National consumer disputes redressal

comimission

1. National Consumer Dispute Redressal Commission (NCDRC) is a quasi judicial
comimission

2. It can exercise Jurisdiction over One Hundred Million rupees value products

3. Itis headed by retired High Court Judge

Which of the above statement is/are correct?

a.1 only b.1 and 2 only c.1and 3 only

d.1,2and 3 e. Answer not known

Cxpdlw mIHTCMTT GHmBHT Spemeniwid CUTBISSHI LeTau(hD SmBHBISHm6Nd HT6wIH

1. Gxpdw mISTCMTT GHMBHT LEMeWIWID RH LGHWTR [HFH SLenERIUILOTEGLD.

2. ®3 mTH - Wevedwes  epuTWl  HIIBG Cwed o eTen  QUTHLBEHDHESG ~ DISHBTY

QUTLDEMLIS O BITEHTL G
3. B8 QUGBS 2 WIEHIwes BHUS
a. 1 w @ b. 1 wBmib 2 wl GHb c. 1 wBmib 3 wl Bb
d 1,2, 3 e. alewL Gafuealsvemsv

Consider the following statements with reference to secularism,.

1. Secularism is the principle of separation of state and religion

2. George Jacob Holyoake coined the term secularism

3. India’s original constitution included the term secularism in it
Which of the above statements is/are correct?

a.1land 2 only b. 2 and 3 only c.1and 3 only

d.1,2and 3 e. Answer not known

WHFFTTLISIO LBSIL LNeTeUBD SnBBISM6Td HT6wIH

1. HFFTTIGMD 6IFILSH DTOHFUID SHHMSUID LIfleGn CsmeTemnswm@Ld

2. sty Gmdall CammedGuwind HFFTTLIEMD 6THIB CFTEUM60 2 (HEUTESI6UITT

3. @bHwmaler cpev DIFFUIE0MIOLILNED OHEFFTTLNIENID 6T6TB GIFTeL 2 6oL Mg E(HHSHJ!.
Wetteu(pd Fnpmiselled gflwmeng e1g1?

a. 1, 2 G b. 2,3 w @b c. 1,3 L (b

d. 1,2 wppid 3 e. alewL GafNwaledenso
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23.

24.

25.

26.
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With reference to Universal Declaration of Human Rights (UDHR), which of the
following is /are correct?

1. It was adopted by UNGA (UN General Assembly) in 1948

2. 10th November is observed as Human Rights Day

3. It is also known as Magna Carta of Human rights

4. It is the most translated document in the world

a.1,2and 3 only b.1 and 3 only c.1,3 and 4 only

d. All the above e. Answer not known

wefls o Mewass GsTLTUTT o cvsemmaiw LfsLassms (UDHR) ubfluw sflwmer
FaBBIH6EN6NE  SHIT6IISH

1. 8z 1948 o0 UNGA (UN gmpr QurgiFgenu) wmed gmmisbesmeteniul L g

2. moubu™ 10 sub Cxgl wells o Menwsel SHenors DiaisfasliLbaBal

3. B35 walsy o Menwsefe LSHTFTFID el ILBH MBS

4. @5 2 FCBW HFHHD CMACUWITSSILL L DLAIHILOTEGHLD

a. 1, 2 wBpid 3 Wl B b. 1, 3 w @ c. 1, 3, 4 wL B

d. CuBsmpPlw SiemnerHHID e. alenL Gafwealsvenso

Which of the following is correctly matched?

1. Dowry prohibition Act - 1961 2. Hindu Marriage Act - 1956

3. Hindu Succession Act - 1955 4. Eve-teasing Act - 1988

a.1and 2 only b. 2 and 3 only c.1and 4 only
d. All the above e. Answer not known

Wetteu(heuateuiplled gflwmsll GQuThboHleud 61%?

l. aupplamerl SELLYF FULID - 1961 2. @bal Flpwew FLLID - 1956

3. @bal eaurflaflenod gl - 1955 4. mel-ledlm FULID - 1988

a. 1,2 wl (G b. 3 w @w c. 1.4 (B

d. CuBempPw smaisan e aloml sfuaisdemen

With reference to the Human Rights commission, consider the following statements

1. NHRC, a constitutional body established on 12th October, 1993

2. Tamil Nadu’s SHRC was formed on 17th April, 1997

3. NHRC’s members are appointed by the president

Which of the above statements is/are correct?

a.1land 2 only b. 2 and 3 only c.1and 3 only

d.1,2and 3 e. Answer not known

wellg 2 MenseT Spemeuub UBBlul LleTeubld nBpIsemen Suls

1. NHRC Gadw weails o Menwnsel oemenwiid 1993 oub 6w obCLTUT, 1210 Cxd)
Boeuiul L @@ SiFFulevsniolil] SienLoliL]

2. SODHTH IHe welld o MenseT Siemeoid elged 17, 1997-60 o (HeuTdSLILL L G

3. NHRC o _miiienser @Quyg $Hmeoeugmed HUIOSHSLILIGEMTTH6I

GopaeniL amppiseiey Fflwmerg e1g?

a. 1 wBmb 2 G b. 2,3 wl @B c. 1,3 w @

d. 1, 2 wBpwd 3 e. alewL Gafuwealsvemnso

Which article of the Constitution says discrimination against any citizen on grounds only
of religion, race, caste, sex, place of birth or any of them is not permitted?

a. 14(1) b. 15(1) c.16(1)

d. 15(2) e. Answer not known

Sirdlwevenol el  eihSLILNflaler &b, eHHEMTH GHYSMSGSGD aTHITS WS, BID, FT,
uredend, LIBhe SL1b aul Sl uled UTGUTH ST L SHILTH 61a1dh FnmISBaI?

a. 14(1) b. 15(1) c.16(1)

d. 15(2) e. alenL OFfwalsoemsv
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27.

28.

29.

30.

31.

32.

As per the 2011 Census the highest literate district in Tamil Nadu

a. Namakkal b.Salem c. Kanyakumari  d.Sivagangai e. Answer not known
2011 b S),6U0TLY 60T 6018 0\ (BLILTGITLIG SLPHSH )60 SIH BLDOT60T sevallwpley
QumBIeTem OTEUL L LD

a. pIodHed b, BFeud ¢ seaelwm@Lof d. deusmens e. alenL GQxfweaisvensv

“Vande Mataram” was first sung by at the 1896 session of the Indian National
Congress
a. Bankim Chandra Chatterjee =~ b. Rabindranath Tagore c. Mahathma Gandhi

d. Sarojini Naidu e. Answer not known
1896 @hHw GCxdlw smmhdred wIETLgET Gurgdl eaubBsh ISHFL  LTLeneoll  LIMQUIeT

a. URFD FHAT FULTY b. peibHImTsd Hram C. LOSBTHIOT SMHE
d. sGyreded BTW® e. alewL Gafuwalsdenso

Which of the following is not a fundamental right?

a. Right to freedom b. Right to equality c. Right to vote
d. Right to education e. Answer not known

8. .8 SlgliumL 2 feno eyl .

a. aeHIHT o feno b. FwsHgen 2 Mewio C. @ Gfleno

d. seval Gupidb o Mewio e, alewL  Gafuaisdemsd

What is the minimum age for becoming a member of the State Legislative Council?

a. 18 years b.21 years c.25years d.30years e. Answer notknown
omBlev Geveneuuilesr o mIiIlemTausBE& GHmmbd LLF aluigl
a. 18 auwigl b.21 g c. 25 auwig d. 30 uwig e. el GFHfNwialsvensv

Consider the following

Assertion: India has a federal system of government.

Reason: According to our constitution the power is divided between central and State
Governments.

a. A is correct and R explains A

b. A is correct and R does not explain A

c. Ais correct and R is wrong

d. Both are wrong

e. Answer not known

LT&STeu(heueTeuBeNs  Shu'Is

BBl @hIHWT Sl LT d (1pdB DJFTRSSHMmS 6lHTeuIL Gl.

&TIewid: @hHW  SFweoemoliier SDHSTID  WwHHW  OBEBID  WIHe  DFFHisEHHH LG
uSlTheHeMabsILIL BeTengl.

a. axBm s, smpBiBarer alendapd FhwTeig.

b. sapm &M, FmBBsTer alendsd Fhulsde.

C. ampm &f, ellendsd Heusl

d. s=@m wBpID elarésld Heupl

e. alenL Oz flwalsvemnso

Match the following:

A. Sirimavo Bandaranaike 1. England
B. Valentina Tereshkova 2. Japan

C. Junko Tabei 3. Sri Lanka
D. Charlotte Cooper 4. USSR
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33.

34.

35.

oan op
RO W Wy
N W N

C
1
2
2
3

N N,

e. Answer not known
QUT(HSHBIH:

A. AflionGeur  LewTL TIHTUIE 1. @RseoTha

B. aurQeveingenm Ox8ymadGsmeur 2. sgUimest

C. maBasr 56u 3. BevBind

D. gfii@som gnliui 4. Gamalwg eeimsluid
A B C D

a. 3 2 1 4

b. 3 4 2 1

C. 4 3 2 1

d. 1 2 3 4

e. alewL Gafwealsvenso

Consider the following statements:

Assertion (A): Violence against women cuts across caste, class, religion, age and even

education.

Reason(R): Domestic violence is manifested in the form of foeticide, infanticide,

dowry murder, marital cruelty, battering, child abuse etc.

a. Both, A and R, are true and R is the correct explanation of A

b. Both, A and R, are true but R is not the correct explanation of A

c. If A is true but R is false

d. If A is false but R is true

e. Answer not known

LetTau(hHeueaTauiBens LIS

BB . CUENIHEHESG CIHITERI  eUI(PB  FTH, LS, 6UTHSD, UG BDID SHevalenul

&LHS BHoL CLBISBSI.

sMyeid: ol  eUSI(MBH6T, HHBHmeLL], Oueidgd OCdTmev, IS Fmew OHTEN6V,

Flpoewild cpeold GETHMWD, FWHSEGH HHIPWD CBTHMLSH6T 66 CeualliLBHBS).

a. gaBm BB STy @rewihlo Ffl Semey, STy Fm@BpiBeTer Fiwmet  allendsLd
LG LD.

b. aBm wB@Id sTyEwIdD @i M GEITed, SMIEWID FaBpPiBsTer  Fflwimer  efendasid
SI606V.

c. ammp Ffl SeImed SHTFewID Heusl

d. o&BB SHuBTaEid SLEMed STyewid il

e. almL G flwalsenso

Who does not participate in the appointment of the High Court Judge?

a. Governor b. Chief Minister c. Chief Justice of the High Court
d. President of India e. Answer not known

® Wit BHWweB HHUSHBmeN HUIOILH6D LkIG QUBTSHeuUT wimT?

a. SLEBBIT b. wpaomwssFT C. 2 WIHAHIDETB HEWevenlo HHLI)
d. suurssH Semevall e. alewL Ggflwalsvenso

The State Legislative Assembly participates in the election of

1. President 2. Vice - President

3. Rajya Sabha members 4. Members of the Legislative Council of the State
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36.

37.

38.

39.

11 | Page

a.1,2 & 3 are correct b.1 & 3 are Correct c. 1,3 & 4 are correct

d.1, 2,3 & 4 are correct e. Answer not known

LOTH60 FLLIDGIB 2 MILILNGITH6T SLDHEWIL aITHEH6T WTemyd CHThesHHLILISL
UmiEg Ui eTmenTT.

1. GQWIsGSH FHemeveuT

2. HIWENT GQWT&HSH FHEN6EV6UT

3. JTsRul Femu o M NeTTHeI

4. wrHev FLLISB GCevenen o milifernTser GxiTey GFulsaged

a.1,2, &3 aM b.1 wppid 3 &f c.1,3 wopmp 4 af
d.1,2,3 wpgiw 4 & e. alewL Gafuwalsdenso

Consider the following

Assertion:  In 1962 when Pondicherry became the part of India , the people who lived
there became Indian citizens.

Reason: It was done by one of the provisions of the Act of 1955 - by incorporation of
Territory.

a. R is the correct explanation of A b. R is not the correct explanation of A

c. A is wrong but R is correct. d. Both A and R are wrong.

e. Answer not known

UeTeu(heueiouBens SHuiIsh

gBm : 1962 b e umtewigFCsll @hsHuw welumi a1 maNhHH. DhG UTDHS
&S BHHU! GIQLOSDHEMTUNGIIT.

smyewid : 1955 @bglwsd Gujflows sl s Ly LIFCssmismen SenamishsHed 616TLISH60
Sl uied SIUTHeT HHUI (&HLQLDSHSENTS 6.

a. SIyewid dmBpilBarer FHuwmer efemdasid b. smyewid Heum)

C. &BEBl HUB LML SHFewid gifl d. smyewid gmBp SrewiGld Heuml

e. alewL O&flwealsvenso

Where is the headquarters of the National Human Rights Commission situated?

a. Delhi b. Mumbai ¢. Ahmedabad

d. Kolkata e. Answer not known

Cxpdlw el o MenEHeT LML HEMEVMIOWISLD DILOHSIGNET S 1D 61517
a. ys OLeved b. apibemui C. OIBSHTUTSH

d. GamevassHHT e. alewL Ozfwalsdensv

Assam Rifles is under the control of

a. Ministry of Defence b. National Security Advisor c. Prime Minister Office
d. Ministry of Home Affairs e. Answer not known

SIGVGVTD  MJLNGTEN 61HaT &S OFuIedLBSBHI?

a. UTgIsIiy SmwFssd b, Gaxflw untsismiy euGeTasiT C. LIJsT SieVIaleudHLd
d. o sz owsFFsd e alomL GOafuiaisdemed

Consider the following statement
Assertion (A.: The President is the Supreme Commander of the Armed forces of India.
Reason(R): The President is the head of the State and occupies the highest position.

a. A is correct and R explains A

b. A is correct and R does not explain A

c. A is correct and R is wrong

d. Both A and R are wrong

e. Answer not known

LeTeu(heueiouBenns Ul

&Bp (A): GYWIsES HmeveuT SHHL S LIDL SH6MET HENEUHID HENLIZE  SLEUIT.
smpenid  (R): @uurssd smeveuT BT SHmeveufraab We o wibsd USel Henevenuljb
QUS| BB
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40.

41.

42.

43.

Fmm gfl, sryeub gBpiBsTer Fhiwmer allendaLom@ld
gmpp i, smyewd gmppPiBarer gfluwmer ailendaoeos0
&Bm gfl, SMyewid SHeuyl

GaBml, STIeNID BTewiGL Heuml

alenL  Gxflwailsoensv

can o

Which of the following state/ Union territories have a common High Court?

a. Punjab and Jammu Kashmir b. Assam and West Bengal

c. Punjab, Haryana and Chandigarh d. Uttar Pradesh and Bihar

e. Answer not known

deteupd  ehg  wompleod  /  weflwer  Csad @@ Quigleuter o WITBHIOSBSHMmSHDH
Osmreni(HeTengl?

a. UEhsT WBEID MIDILp SHTOHST b. ojeveromd wBEId CBE eumkISBLD

C. U@EhaT, emfluimenT WBBID FemlgssT d. 2 58ny@sab BB LI

e. alemL Oz flwailsvenso

Consider the following statements.

i. An Indian Penal Code was prepared in 1860.

ii. The Calcutta High Court was established in 1862.

iii. The Government of India Act, 1935 created Federal Court.
Which of the statements given above is/are correct?

a.ionly b. ii, ii only c.1i,iii only d. All the above e. Answer not known
LeTeU(HLD SnBenB SLITUIS.

1. @hHw SHewiLenand FLULID 1860 @60 2 (HeuTSHSLILIL L F).

ii. HEVBSHHT 2 WITHH B 1862 &60 MHBIGULILIL L &)

iii. 1935 oub sewip AbHU SIHFF FLLID Gl LT S HHOSBSHMS 2 (HeuToHUIG.
GuBev CBHTRSBLILL L 6hdH BBl / FnBmiser Fiwimerene.

a. 1wl (B b. ii, iii L B0 c.i,iii o G d. oweardad e alml Gpfwaisdemeo

Which of the following statement is not true about India’s Supreme Court?
i.  The Supreme Court of India is the highest court of the country.
ii. It was established by part V under Chapter IV of the Indian Constitution.
iii. =~ Supreme Court cannot transfer cases from one High court to another
iv.  Its decisions are binding on all courts
a.i b. ii c. iii d.iv e. Answer not known
@b o FFphHlweamsd uBBlw eaeumd 6bhd smBpl Flwmearg $i606v.
1.  @pFHurels o FFHLAWMBL BILQET WS o Wihd BHHLGBLD SLEGLD.
. @pau Spdueomolig FULSHET BTaETadH DSHUTLSHET S UGFH mbhdHer -
U Bpeuiil L g
. @@ 2_WBHIO6TBESle0BhS! LB GBIT(h BHEBSHBES QIMEICET D)
® FFHIIOGBSHST60 LOTBB  (LIQUITSI.
iv. @56 (PYa|H6T DmTHH HALDSBHIGM6NUD S BHLULBSHSHISMBSI.
a.i b. ii c. iii d.iv e. alewL Gapfwalsdenso

Direct Democracy in olden times existed in

a. Ancient India b. Ancient Athens c. Britain

d. Greece e. Answer not known

LLPmIBTe0SHSH0 GBIl WwdhsenTl & (pevms UeuBsriul Ll L@

a. uewtenL W @bgHwim b. uewienL W 6OH6bTEr0 C. BmISeoThal
d. &ferd e. alenL Gafwealsvemnso
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44.

45.

46.

47.

48.

India has adopted the electoral system followed in the

a. USA b. United Kingdom c. Canada
d. Russia e. Answer not known

SdHHemL BT 1gaT CHTHe0 (pewmulenet @bHWT gBpIs OETem(BeTeng

a. 90wféss gEHw BTHS6T b. @rideunbal C. HEUILIT
d. geswr e. alenL Gafwealsvemnso

Consider the following statement

Assertion (A) : Indian Constitution provides for an independent Election Commission
Reason (R) : To ensure free and fair elections in the country.

a. Both (A) and (R) are true and (R) explains (A)

b. Both (A) and (R) are true and (R) does not explain (A)

c. (A) is correct and (R) is false

d. (A) is false and (R) is true

e. Answer not known

FaBDISHEN6T  YJTUIS.

&Bp  (A): @bdHwu  opfueomwliyF S&HHATONS GFweouBDd BHTHed SLmeTUSHBE
afeumss CFUIHBSI.

amenid (R): @g1 prlger sgpbayworer Blwrwwrer CahTdHmen BLdHd 2 @i CFUISBS.

a. (A) wppw (R) gremew sfwrergs wppid (R), (A) e alensgdBa

b. (A) wppw R) Gyewigw sfwmeig (R), (A) e alendsaisoenso

c. (A) sflwreng wBpid (R) seupreang

d. (A) seauprerg wBpd (R) sfwrerg

e. alewL Oxflwealsvenso

Which of the following sequences is right regarding the Preamble?
a. Republic, democratic, secular, socialist, sovereign

b. Sovereign, socialist, secular, republic, democratic

c. Sovereign, republic, secular, socialist, democratic

d. Sovereign, socialist, secular, democratic, republic

e. Answer not known

SpsTamid auflmaulsd ‘(wpdeayeny’ umplw Filwmer QHTLT 61gl?
a. GQWIE, WoHHEMTL S, FWFFTTUBMB, FIOSHTD, EeHBUITCIITENLD
b. @Buwinesienio, FIOSTD, FIOWEF FTTUBDB, GQUITH, LDSHDB6MTL S
C. MBWITERIND, GQWITH, FOWF FTTUBDB, FIOHTID, LDHHEMTL
d. Bepuimentento, FIDHTD, FIDWIF FTTUBB, LSBT, GHQUITH
e. alewL G flwailsenso

Which one of the following rights was described by Dr. B.R. Ambedkar as the heart and
soul of the Constitution?

a. Right to freedom of religion  b. Right to equality c. Right to Constitutional remedies
d. Right to property e. Answer not known

Heeupeueteumpien b o Moo Dr.B.R. oibBushst oiautsenmed ‘@b oyflusosniolier
®HWID BBID DLETOT 6T DIWPSHBLILL L 17

a. gwow o Meno b. swsgen o Menwo

C. oFweemliys@l ul G Hre) stab o fleow d. OFTshgifeno

e. alemL O flwailsvenso

How can the Fundamental Rights be suspended?
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49.

50.

51.

a. If the Supreme Court so desires
b. If the Prime Minister orders to this effect
c. If the President orders it during the national emergency

d. All of the above

e. Answer not known

SlgliLenL. o fenoskel eTeleuTml BmIGHHemeudbsliuL  (pigujb?

a. o2 Fgphd WaIBLD all(HLbLlermed

b. ysw wiANulesr symentulermed

c. Gxdlw ouggBeneoulenr Gurgl Gwrs SHeneveufler SiememnTulemed
d. GuoBseii.  SimeaiSHSID

The authority to alter the boundaries of the state in India rest with the?

a. The President b. The Prime Minister c. State Government

d. Parliament e. Answer not known

BhHUI DTHEUBIBENET 6T60MEVHMEN  LOTHBBIWLMDSGID HIFSTID GUBBeT / CUBB SiEHLOLIL]
a. GRWITSS HEN6VEUT b. ysi0 SiemFaT C. LOMH6V SIFFTMISBLD

d. TL_mempLoessLD e. alewL OxMwaletenso

Consider the following statement.
1. Total members of the Rajya Sabha is 250.
2. The 12 nominated members shall be chosen by the President from amongst the
persons experience in the field of literature, science, art, or social service
3. The Members of the Rajya Sabha should not be less than 30 years of age.
4. The members of the Rajya Sabha are directly elected by the people.
a. 2 & 4 are correct b. 3 & 4 are correct c. 1 & 4 are correct

d. 1, 2 & 3 are correct e. Answer not known

1. wipHlevmiseneneuuier Qwrshs o miilearmsefier ereamenibamas 250.

2. @evddlwibd, opelwed, Smev, Fepd GFmeu Bl FHlmpseied Fpbs ey LOBHID
SiILeD QUBB 12 HUTHMENT LOMHEVRIGETMISES GHQWTFHidH SHMELaUT HIUILOSEMITT.

3. wipHlevmisenmel o BILIRTaSBE 30 aWSHGHSGHD GHOBUTE B(HHH60 Fnl M.

4. oTHlevmiseTenel o mililenTaer ChIQuIne WwdHemed GHiThH0\%H B S ILIBEHIBETT.

a. 2 & 4 gflwnerene b. 3 & 4 sflwreneneu c. 1 & 4 sflwreneneu

d. 1, 2 & 3 sflwnereneu e. alewL Gxfuwealsvemev

Consider the following statement.

1. The Chief Justice and other judges of the Supreme Court hold the office up to the age
of 62 years.

2. Judiciary is the third organ of the government.

3. The cases involving fundamental rights come under the Appellate jurisdiction of the
Supreme Court.

4. The law declared by theSupreme Court is binding on all courts within the territory of
India.

a. 2 & 4 are correct b. 3 & 4 are correct c.1 & 4 are correct

d.1 & 2 are correct e. Answer not known

1. 2 &5 BHAHWAB HHUSB6T WBBID BB HHuSHsellar uie] CUBID euwg 62

2. 10 SIF&T PRBTEUSH DBIGD BHHMB DLGLD.

3. ogliuemL o fenwseT OFHTLAUTST  IpSGHHB6eT o FF bHwamsHHear  Guedpenpuil (B

DIFBMIBIBEHHEG 2 L LLL G

4. o2 55 pHoapd Upllsghd opmean @bHumelar  S@aissIl  uGHuieieiern

bFHIOGTBRISMMUD S BLLGSHSHILD.

a. 2 & 4 sflwreneneu b. 3 & 4 sflwnerensu c. 1 & 4 sflwmeneneu

d. 1 & 2 sflwreneneu e. alenL Gafwealsvemnso
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52.

53.

54.

Consider the following statement.
Assertion (A): The Rajya Sabha is a permanent house and it cannot be dissolved
Reason (R): One third of the members of Rajya Sabha retire every two years, and
new members are elected to fill the seats thus vacated.
a. (A) is false but R is true
b. (A) is true but (R) is false
c. Both (A) and (R) are true and (R) is the correct reason for(A)
d. Both (A) and (R) are true and (R) is not the correct reason for(A)
e. Answer not known
LledTeu(meueTeuBens Sy Jmu1H
FBEl : THEVRIGETme Q(H HIHSHT DMULTGD. BFHMeTd HMeVHD (LIQUITHI.
SMIewID:  MHevmIGeTmaluied 1/3 uUkEg o prilaimseT @aldTm BTN UM HHEHHGLI
Une @uie GupeT. SiISsTelulLmsEndd UHw o pitifernmser CHTbhosbHaHsLlLBeu.

a. BB HEUBTEIH SLETTEL HTTeNID FHWITeIHI.

b. sBp Fllumeis QETTEO STTEID HOUBTEIH!

C. GaMBml, &Myewild @yewiBld &Ffl LBBID SMJewID FoBmISEG Fhwmer allensELIDmEGLD.

d. s@um, smewid yewiGn FM WBBID STTaEID FwBuIsE Flwrar alendse06.

e. alowL Gafwealsvenso

Match the following

A. Article 53 1. State Emergency

B. Article 63 2. Internal Emergency

C. Article 356 3. Executive power of President

D. Article 76 4. Office of the Vice President

E. Article 352 5. Office of the Attorney General
A B C D E

a. 1 2 3 4 5

b. 3 4 5 2 1

C. 3 4 1 5 2

d. 5 4 3 2 1

e. Answer not known

QUT(HSHIS:

A. s L09Mey 53 1. omflev  GIB(HBBIgH 66V

B. L (9fley 63 2.2 aMBT.(H OBHBHQH M6V

C. sL.Liifey 356 3. BRWIssH Hmevalfler HITeUTE OIHEBTIHIBET

D. s Linifley 76 4. IS GQUITHSH HMELaUTET DIeVIEIVSHLD

E. s ey 352 5. 8pFHL SITFET HMELEMID AUPHGHMTEHT DIGVIAIGOSHLD
A B C D E

a 1 2 3 4 5

b. 3 4 5 2 1

C. 3 4 1 5 2

d. 5 4 3 2 1

e. alemL G flwailsenso

Consider the following statement.

1. Only some States in India have Legislative Councils.

2. Some members of the Legislative Councils are nominated.

3. Some members of the Legislative Councils are directly elected by the people.
a.1 & 2 are correct b. 1 & 3 are correct c.1 & 4 are correct
d. 1,2 & 3 are correct e. Answer not known
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55.

56.

57.

LeiTeu(hlD SnBmIsemen LIS

1. @pdwumealed Hev wIHevmiseT LB FU L Gsvenslenuwlll GLBMIeT6T6T.

2. Gevemeuuie Hev o minfenTaeT BWLOSSILBSBTTHEN.

3. Guevemeuuiem v o mIIlenTaeT woHHemmed ChIQUITES GCHTHOHBHHLILBSMTTHEI.
a.1&2ag b.1 & 3 & c.1&4 s
d.1,2&3af e. alowL Gafuwealsdemsv

Consider the following statement.

Assertion (A): There are limitations on the Legislative authority of the State Legislature.

Reason (R): Certain bills on the State List can be introduced in the State Legislature
only with the President’s approval.

a. (A) is false but R is true

b. (A) is true but (R) is false

c. Both (A) and (R) are true and (R) is the correct reason for (A)

d. Both (A) and (R) are true and (R) is not the correct reason for (A)

e. Answer not known

LedTeu(mHeueieuBens  uUi1sh

aaBml (A) : TR FULLSBSIHBESG FLL DHSMT eugbL o 6wi(H.

smgenid (R) : @uwrad smeveuflear qlidHeler UGG wrBleolt UL iguiedgieten  Flev

CFTHTEHMENEF FLLIOSIBHH L DINSI(PSHD QFUILIGOTLD.

a. (A) saup syemmed (R) &l

b. (A) sfl aemmed (R) seum

c. (A) wppid (R) &M Gwayitd (R), (A) eysasten sfiwmer alensbaom@d

d. (A) vBpid (R) &l Guwed (R), (A) eydbasrer gflumer elersasioesv.

e. alewL Gz flwealsbenso

Choose the incorrect statement about the Non-Alignment Movement

1. The term Non-Alignment was coined by V. Krishna Menon

2. It aimed to maintain national independence in foreign affairs by joining any
military alliance

3. At present it has 120 member countries.

4. It has transformed to an economical movement

a.land2 b.3and4 c.2only d. 4 only e. Answer not known

Ueareupeuaieubmled SienflCGegr Quisbsld UBBlw SHeupter saBBlenard CaThHo%HH

1. selCaymr Quibsid 6B CFTeL ai.&)(HaReuGLOGIRNT TEILIAITTEY © (HeUTohSLILL LS.

2. @sor GCpréssd Gyrameus gl Lenwliiled  Gaibgk  OQeued  eleusmymiseisd  Gahdlw
5EHETSMBU LIMOAGSH0 G ID.

3. amBurgd @z 120 o _miiy BTGSMeNdH CsTeuIBeTeng).

4. Ba QuImHTHT BUISHHLONS LOTBBLOEOL HSHIGTENDI.

a. 1 wmpb 2 b. 3 wipd 4 c2w G d. 4w Bd e alowL GOzfueisdmed
India is not a member of which of the following

1. G20 2. ASEAN 3.SAARC 4. BRICS

Select the correct option

a. 2 only b.2 and 4 c.1l,2and4 d.1,2and 3 e. Answer not known
@hFHwr LeteumeueteuBmieT 6hdh Siemwliled o minieamrs Sevenev?

1.29 20 2. gdwnesr (ASEAN) 3. gt (SAARC) 4. 0fged (BRICS)

gilwnereumens CHTHOSHMH
a.2w @G b.2wspb4d c.1,2wspd 4 d.1, 2 wspin 3 e. alenL Gafwealsdemso
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58.

59.

60.

61.

Match the following and choose the correct answer form the codes given below.

A. Salma Dam 1. Bangladesh

B. Farakka accord 2. Nepal

C. Chukha hydroelectricproject 3. Afghanistan

D. Sharda River project 4. Bhutan
A B C D

a. 3 1 4 2

b. 3 1 2 4

C. 3 4 1 2

d 4 3 2 1

e. Answer not known

QUTHSHHIB

1. F60LDT S|eH6wT 1. aumisTenGHaLb

2. UITHST QLILIHSLD 2. Gpumend

3. &&aT HIoeiFsHd H LD 3. SyisTenNerdSHT6s

4. sMIST &G Laigsdhsh FHLIbD 4. gL mesr
A B C D

a 3 1 4 2

b. 3 1 2 4

C. 3 4 1 2

d 4 3 2 1

e. alewL Oz flwealsdenso

Consider the following

Assertion (A): India and France launched the International Solar Alliance.

Reason (R): It was done to bring together countries between Tropic of Cancer and Tropic

of Capricorn for co-operation of solar energy.

a. A is correct and R is the correct explanation of A

b. A is correct and R is not the correct explanation of A

c. A is wrong and R is correct

d. Both are wrong

e. Answer not known

Leteu(heueioumenns iUl

S&Bp: @hFHwmed Ugmasib Fiaulss Gfwussdld gl Leanlmuld 6T midueTere.

syenid: @& SL&Crmas wBmId WSICImd YHwaBnISG DL Cuwimer  BTHHMTF Gyiflw
BBISHTRT PSHHIMIPLILT6D  QeiIslenewILILISBHTGLD.

a. amm &, &Myewid FaBuiBsTer Fhwmer alensaIoTEGLD.

b. sa@m af, sryewid gmBpiBaTer Fflwimer alendse060.

C. mBml Houml, Hmyewid &ifl

d. @I, sryewid @yewi(hio Heuyl

e. alemL G fwailsvenso

Who among the following is regarded as the father of Modern Theory of Sovereignty?

a. Jean Bodin b. Hugo Gotius c. Austin

d. Machiavelli e. Answer not known

SpHHMILalTHelled “Bofer @enpuimenieonld GHTLLITLI9T HHewdH 616l HIenPSSLILIBLIGUT WTT?
a. et Gumgest b. afluBasr Gamguierd C. SLErOIQa6H

d. wréswesied e. alewL Opfuwaledensv

The book “On Liberty” is written by

a.].S. Mill b. Locke c. Rousseau

d. Bodin e. Answer not known
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62.

63.

64.

65.

66.

67.

‘SHHHATD 6160 HITEN6V 61(LPSIULIGUT
a. Geg.er610.1060 b. eurs c. emBam
d. Gumgesr e. alewL OaMNuwalsvenen

A uniform civil code can be obtained through
a. Fundamental Duties ~ b. Fundamental Rights c. Directive Principles

d. Human Rights e. Answer not known

SIMTUHHGD CUTHIUTRT Glpenouiuled Faled FLLID 6I6ILIMS 6I1HET (LPGOLTSH  DIeML UITEITLD
HTeuTa GBTLD.

a. IQLILIHL. &L HLDHEIT b. owgriuemL o feioser C. opdlar aupar B GBEmi(LpenBEH6iT
d. wels o Menose e. alewL GaMuwielsvemsv

The leading Indian political thinker who Proposed Radical Democracy is

a. M.N. Roy b. Nehru c. Gandhi  d. Ambedkar e. Answer not known
Saly (&G BBaUTsH dHHeNT. Fenwl (petOmfihs (perGelty SIFfluied FbhaHemeruimerniT

a. 6TD.6I6r. [l b. Gr C. BMhHE d. oBusbst e. ale OsMNuwialsamnen
Choose the indicators used in the calculation of Human Development Index (HDI)?

I. Standard of living II. Education

I1I. Life expectancy IV. Condition of environment

a.Only [, [ & IV b. Only I, II, & III C.Only I & 1I

d. All of the above e. Answer not known

SpsaeuiLsuBpien  elgpeuenm  GuwurlGs GBuiligemer (HDI) sewsdhougsd LwemLBw
GBUWIbBseT Wreneu?

I. aumpsensd Hyb II. seval

III. ggmad Suu’ smeold IV. ampi& @Wwed mlenev

a. L, Il oppnd IV ol Gd b. I, Il w@mnp [T o G c. lioppd II G
d. Bweu SlmETSHHID e. alenL Gafwealsvenso

Name the philosopher who wrote “The Republic”

a. Marx b. Aristotle c. Plato

d. St. Thomas Aquinas e. Answer not known

‘GWITE’ eTaTeIlD BHTedenal 6I(WHW SHoHHlew @EhTeNullesr GLwIT

a. LTT&er b. eflerdLm iged c. Wenm G
d. yels sroed Sidbealemmed e. alewL Gxfuwealsvenso

Who is the author of the work “Principles of Political Economy”?

a. St. Thomas Aquinas b. Thomas Hobbes c. John Stuart Mill

d. Plato e. Answer not known

‘OFwed QUTHMTESTISHH 6T BTeTendED6T 6163 HIevlesr SLAfwiT wmfr?

a. yellad STwerd Sidhaiermerd b. &moed ammiierd C. £qmeir erOB6uL  LOl6D
d. emm GLm e. alewL Gafuwalsdenso

State funding of elections was backed by committee.

a. Indirajit Gupta Committee b. Vohra Committee c. Tarkunde Committee
d. Tanka Committee e. Answer not known

Sdle PHUgeluamer Cxigoamer __ GW US55

a. BhILH GUST GW b. Gaumm & C. MMGhsd G

d. Lmasr g e. alewL GaMuwielsdemev
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68.

69.

70.

71.

District Planning Committee is created under

a. 931d Constitutional Amendment Act b. 74rd Constitutional Amendment Act
c. 89th Constitutional Amendment Act d. 94th Constitutional Amendment Act
e. Answer not known

wral L HLLEGW SULY aHHSD o (HheuTdsliulLgl. ?

a. 73-augl SFmli gL SHbHHSHD b. 74-eug oipFemnioli] FULSHHSSW

c. 89-augl SFFMLIL FULSHHSHDHID d. Y-augl swemOi g1 LSS HHSHID

e. alemL Oz flwailsvenso

Consider the following

Assertion : E.V. Ramasamy started the Self-Respect Movement.

Reason: The Self-Respect Movement is a movement with the aim of achieving a society
where Non-Brahmin castes have equal human rights

Both A and R are true and R is the correct explanation of A

Both A and R are true but R is not the correct explanation of A

Ais true but R is false.

A is false but R is true.

e. Answer not known

LedTeu(mHeueieuBens  uUi1s

GO : F.Oeugm. groasTll swwoflwummsd QuISsHmeHdH 6GHTL IS

&Trewid:  swioflwmensd Suissld  eaiugl  LIFToeonT — SIe0e0TsH  FTHSG6T  FLOWTET  Lo6SH
o Mewwsel GUDID CHTESHSHIL T OHTLRISILIL L BUISHSIOTGLD.

BRI STFeI(IpD &M, gnBpibsTen shwmer allenssad

BrewihB i, uemed SHjewid Fflwimer allenoHsd Ee0en60

&Bm gfl, LETT60 SMTTeNID SHeuml

BB Heuml, SMJewid gifl

alenL  OFfluialsdensv

anoe

P an oe

Who wrote “The caste feeling, thus divided the Dravidian race and the Dravidians
became slaves the Aryans”?
a. CN. Annadurai b. E.V. Periyar c. Singaravelar

d. Maraimalai Adigal e. Answer not known
“grHw o ewiTeydenme, Hymell  @end  oBpid  HgmelLiTdet  aeip  ouflwiTsefLd
SIQENLOWITEITTSHET  6T6HImI  Fnpdlleui

a. JleTeil. S)|6uTenITHIN] b. #.Geugr. Quflwmit c. fismy Geaueoi
d. weBwmey DigHe e. alewL Gafuwealsvemnso
Match the following:
A. Cholas 1. Madurai
B. Cheras 2. Kongunadu
C. Pandyas 3. Kanchipuram
D. Pallavas 4. Uraiyur
A B C D
a. 4 1 2 3
b. 4 3 2 1
C. 1 2 3 4
d. 4 2 1 3

e. Answer not known
SlpamUsaTIBemB CUT(HHFHLD BHTENwISH.

A. Gampi 1. glemy

B. Gayi 2. QaMEIGBT(H
C. umewnguiT 3. &TehdlYyid
D. uebeveui 4. o enpuy
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72.

73.

74.

75.

C
2
2
3

an o
N S

B
1
3
2
2

W = Wg

1 e. alewL Gzflualsdenso

In the context of India, which of the following principles is / are implied institutionally
in the parliamentary government?

1. Members of the Cabinet are Members of the Parliament

2. Ministers hold the office till they enjoy confidence in the Parliament

3. Cabinet is headed by the Head of the State.

Select the correct answer using the codes given below.

a.1and 2 only b. 3 only c.2and 3 only

d.1,2and 3 e. Answer not known

@hHwmemealll GUTBISHS Uy HILTEHLSB SFFT Fuled Spdsramid GCamurhseilsd 615
WerummriLGama?

1. oimwFsTeny o BIllaTseT Sienaral(hld HTLTEHLOEB o B IeTa6T QLeUTT.
2. BILTEHOSBHH T BOLIbmE BoSHGWD eueny SDIMFFTHET LSl Ui

3. el ofler HmeveuITed HEMeVENLD SHTRISLILBGS MBS

SpbHemiL  GHBHenenl LwWaLGSHS Filwmer almLemwd CaibhosHM.

a.1,2 w’ @ b.3 wl G C.2 wBEId 3 WG
d.1,23 e. alewL OaMwaledenev

The term “We’ in the preamble means

a. Indian Government b. Supreme Court c. Indian Parliament
d. The People of India e. Answer not known

(Wwaliyengulled @b GumId “BID® eaiaid GFTed mes GHBISEBSHI.

a. @b SF&H b. o Fgpdosipid C. [BTLIT(@pLOGIIBLD

d. @pFuw waser e. alewL Oz fwailsvensv

Consider the following

Assertion (A): The 42nd Constitutional Amendment has been referred to as the ‘mini
constitution’.

Reason (R): It was the bulkiest and most comprehensive amendment.

a. Both A and R are true and R is the correct explanation of A

b. Both A and R are true and R is not the correct explanation of A

c. Ais true but R is false

d. A is false bur R is true

e. Answer not known

LaTeu(heueiouBens SHUIsh

&By  (A):  Reaug  SpFoLIYSH HBSSFFLLD @b Gl  SIFmL"  eTeIs)
GBUILOUGSBEI.

amyenid (R): oifHswrer alglsmen QTami(h QHRIFmMSIILLL HHHHF FLLLD

a. FBmId, &Tyeild FRwTaTmeuSeT LG, STIEWID FnBypIbSTer Flwmer alendhaoTGLD.
b. gBmubd STyewI(IpD FHULITHIMAIBETGHID. DML &HTJenid dmBens Fluns alenodsaleenev.
C. amBp gfl SEITed SHTFewID Houml

d. aBm Heoum Seed STyewid il
e. alewL Ggflwalsvenso

On the death of the President, the Vice President succeeds him as President for

a. the unexpired term b. a maximum period of six months

c. a maximum period of one year d. a maximum period of two months

e. Answer not known
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76.

77.

78.

79.

GlwrsssHmeoalfler  FEISGHGICUTSH  GQUWITFHSH  SHDEIHDHEMEVAIT 61616166  HTEULD
GRWISFHHMEVAT LiGHal 6usHH60mD?

a. Bsb ol (BhF CFaiB uHald SHTEOD 6D b. &1Fs U FwoTE 6 WIHHISHET

C. QP& EFOTS | ubLLD d. edsugors 2 WISHIGET

e. alenL Oz flwalsomnso

Which of the following refers to a theory of judgement that takes into account the spirit
of the law and the changing times?

a. Judicial Review b. Judicial Activism c. Judicial Restraint

d. All the above e. Answer not known

SpHHMILauBslev, 6l CaHTLuT@® LTSleu(HD  STELUMIBMNMUID, FLUL SIS  CHTHBMRISMETULD
BHMIHH60 1BHHIDH CdTedlemsg?

a. B Frmuie] b. BHsamn GFweoum B (wews C. BAHWM &L GrLT®H
d. CuBsmpPlw SiemearHHID e. alenL Gafwealsvemnso

Federalism was demanded in India for the first time by

a. Mountbatten Plan b. Nehru Report c. Cabinet Mission Plan
d. Rajaji Plan e. Answer not known

AbhFHwraled gl Lm gl (pempenw! (WHel (WwHeond Gamilug ergi?

a. weewi CulLer FHLLib b. Gpm oPbms C. GWeler FHLib

d. ®yrmred &b e. alwL Oz fwaledensd

Consider the following

Assertion (A) : The constitution excludes the Inter State River Water Disputes from the

jurisdiction of the Supreme Court and entrust them to article 262.

Reason (R): River Water disputes affect the livelihood of millions of people and therefore

they should be settled through negotiations among the concerned states.

a. Both A and R are true and R is the correct explanation of A

b. Both A and R are true but R is not a correct explanation of A

c. A is true, but R is false

d. A is false, but R is true

e. Answer not known

LetTau(heueaTeuiBens LIS

aaBm (A): wiBeonhseEpsSomLCuwrear B BT UyFdmasmer o & BHOGTBSS 6T
SIHBTIUTDLIO B\HHEH BHHS 2 M 262 &FG SDIFFmLIL QLILINL S ETBSI.

amyenid (R): Bd BT LpFgemensen L0 &6OLFID 0SSN GUTDOUTHTIHISENT FIOLIHSILIL L Gi.

NFBCeu s(paoner CuEFs aMTHMBH6N cpevld SILLITEFFmIBm6Nd HTdHd Gouewi(BLD.

FBEID, STFMI(WD FAWLTRIN6USET LG, STIENID FnBBIbSTeT FHwTer aNemdELOTEGLD.

FBEID SMFevI(pd FlWmeTeameuT@Gd, SLETTe0 SHTTRID FaBenms Fiwns alendsealeoensv.

&Bm gf, QLeTT60 SHTJeNID Heuml

BB HOUMI, LTV HMJewid &ifl

alewL  OFflwaisdensv

P an oe

Which of the following is not a statutory function of the UPSC?

a. To advise the government on the methods of recruitment, promotion and control of
public services

To look after the interests and rights of civil servants

To hear appeals from civil servants and redress their grievances

To act as a watchdog on the functioning of the state Public Service Commission
Answer not known

®c a0 T
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Bp HWILFH60 61FH @I &l LenilwmenT CaHiTeuTenemiuishHlei FL L LTeulomenr Lenll Sle06v?
a. ©uowl  umiuler  Buwwerd, ugel o wiey, &SLEUUTH @ pFlwer  CEHTLTUTS
DITFTRISSHHBE SLCOTFNET 6ULDMHIEG)FH60

Gl9emoll LIenNWTeNTHeiel Heveiisel wBmID o Menwser Cueamighed

Glemoll LienwmenToeiel @ampaemen Cal (B SHTHH meUdHHe0

wrpHlevd CaeuTenemiud OFUIOHMETD  BH6vIHT6am%HH60

allewL  Oxfweailedensv

o an o

80.  Expenses incurred out of the Contingency Fund of India are

a. Subsequently recouped by transferring savings from other heads of budget
b. recouped through supplementary, additional or excess grants by Parliament
c. not recouped till the whole fund is exhausted
d. recouped by collecting contributions from various states
e. Answer not known
@haw sBaTels HHUTHHESH gBRSILGLD OFe06)H6lT
a. G571 HFHHmev PGB HHAH oD CFLOLILSEN6T LOTBBIISHET CLPEOLD
b. BILTEHOSBSSTEL aUPBISLILGD FnBSHe0 OBBID HeWew! HEHM6T OTHBRBIGUSHEHT eLO6OLD
C. B WPpweug b SHHbeuen] LOTBHILEMLOSSILIL TSI
d. uev wrPevAIBAND BHHH UHLD LRSS FHOFUICISHET (LPEILD
e. alomL Gafwalsdenso
81.  Which one of the following set of Bills is presented to the Parliament along with the
Budget?
a. contingency Bill and Appropriation Bill b. Finance Bill
c. Finance Bill and Appropriation Bill d. Direct Taxes and Indirect Taxes Bill

e. Answer not known

SLpdhHeniLauBmled 6bdH FL L (LpeiTeumIe] BTLTEHLGIBSHH 0 BHFHBmev DPibmaCurh GCaibhsl
SleMesLILGHMBSHI?

a. BHTe0E FLL (1PIeUmIe] LOBHID @SS (B FLL  (LPGTeUm]6)

b. B& L @pealemyey

C. g FLL (peiteuenye] LOBEHILD RHISHS. (B FLL (LPGTeUMT6,

d. Gpyig L (peeuenye] eufl WBBID wWedBIPE aufl FL (WeTaImTe)

e. alewL Oaflwealsvenso

82.  Choose the States that were formed once the State Reorganisation Act was passed by the
Parliament in 1956
a. Andhra Pradesh, Punjab, Manipur, Tripura
b. Andhra Pradesh, West Bengal, Madhya Pradesh, Bihar
c. Andhra Pradesh, Laccadive, Odisha, West Bengal
d. Andhra Pradesh, Tripura, West Bengal, Madras
e. Answer not known
rHlev  LBIFTEOLILF  FLULID 1956 @e1 L  SpFewiL  OTHeVEISETL  eTemeu
LOMISFT LD BLILIL L 6017
a. abdr LIpBsab, uehaTll, ey, sSiflyym
b. aubdr LgBsaib, Guoma eumkisTend, wHAHWIL LFBxHaD, st
Cc. by LpBxsab, Bevl FHHeaHei, @aT, GBE eURISTETD
d. eupdr Csab, Hfiugr, GBE eUBIBTEND, DSHITED
e. alenL Oz flwalsvemnso
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83.

84.

85.

Match the following:

A. Planning Commission 1. Narendra Modi
B. NITI Aayog 2. M.S.Swaminathan
C. Green Revolution 3. Verghese Kurian
D. White Revolution 4. Jawaharlal Nehru
A B C D
a. 4 1 2 3
b. 3 4 2 1
C. 2 3 1 4
d. 1 2 3 4 e. Answer not known
A. S L suememnd 1. xCyhgly Guomig
B. P8 oBuwrs 2. 6TLD.6T610.  FHEUTLOBTSH60T
C. ugenioliyyl & 3. auitdserd (& fluwiest
D. Geuewteniors L& 4. ;geuaniteumed Gh(H
A B C D
a. 4 1 2 3
b. 3 4 2 1
C. 2 3 1 4
d. 1 2 3 4 e. alewL Gxpfwelsdenso

Consider the following;:

1. The focus of the “Look East Policy” was to increase the economic integration with the
South East Asian countries and the area was just confined to South East Asia only.

2. On the other hand the focus of the “Act East Policy” is the economic and security
integration and the focussed area is increased to South East Asia plus East Asia.

a. 1 alone correct b. 2 alone correct c. Both 1 & 2 are correct

d. Neither 1 nor 2 is correct e. Answer not known

LetTeu(hHeUaToUBenB  H(HHIS.

1. “Dpdsg Crresd OCameims”’ aaUSBG HWHEG BTHBEHSHSeL Guiwmer  CUITHeTTSHT]Y
QESmealinl  SFHlaflhmed  Coed  Oger  Swdsstdw uGHsealed L HOW
SR SHFH MBS MW

2. spemev  “Fpd@ Crpredl  GFweound’  eeiug  0HBE HSE LMIGLO0ITIOE DG
SLFwT BTHSefeT QUTHEMTSHTY WBBID LTHISTIIL Q(HHISmenrlienl SIHSLILBHHIHTGLD.

a. 1w’ @G &M b. 2 w G &M c.1opmip 2 Byewid g

d. 1, 2 @yewiGo Heum e. alewL Gxfuwealsvemev

Choose the correct statements regarding Dr. B.R. Ambedkar

1. He was the chairman of the drafting committee of the constituent assembly.

2. He was responsible for the creation of RBI

3. He participated in all the three Round Table Conferences.

4. He was the independent India’s First Law minister.

5. He was awarded the Bharat Ratna Posthumously in 1990.

a.1,4 and 5 only b.1, 2 and 3 only c.1,3,4and 5 only
d. All the above e. Answer not known

Uereupeuemeuppiieo Dr. B.R. oubBusbasma@ll uppluw sfwmer sppisemen Caits

1. oppdwed mitewrugenuulesr FUL suemgeyd SO 19Ul &HemeveuT

2. @bHw Mgrel aumSemw o (HeauTd@GaidHed CUIHDLIRIG 6udl&HSHeT

3. eweriml el L Goeng LOTHILIQeVID LIRIGHBBeuT

4. &HHIT BbHwraler (PpHed FLL DIDOFSFT

5. @pBUys@Uder 1990 60 UMTHISHOT all(hdhl UPEISLILLL S

a. 1, 4 wBmyIb 5 b. 1, 2 By 3 c. 1, 3. 4 w@mmid 5
d. GuBseami. iemearsHasId e. alewL GaMuwielsvemev
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86.

87.

88.

Find the correctly matched pairs.

1. Tamil Nadu - Bharatanatyam

2. Kerala - Kathakali

3. Maharashtra - Yakshagana

4. Uttarpradesh - Kathak

5. Jammu and Kashmir - Sattriya

a.1land 2 only b.1,2 and 3 only c.1,2 and 4 only
d. All the above e. Answer not known

gflwrer Seneidenen Hewil bl @@uljmuw

1. SODETH - UMJBTL IQUILD

2. Gayenm - BGHD6N

3. LOQUBITITENOIQIT - WISnPSHTGOILD

4. 2 G37IrCxHaD - BHD

5. b(p HTOJOT - gngflwr

a.1l wBpid 2 W G b.1, 2 wpmib 3 c.1,2 wppi 4
d. CuBsmpPlw SiemearHHID e. alewL Gaflualsdenso

Choose the correct statements

I. President hoists National Flag on all important National occasions like Republic Day
and Independence Day at New Delhi.

II. On January 29, Republic Day celebrations is brought to an end with the Beating
Retreat ceremony performed by the Indian Army, Navy and Air Force with the
President of India being the Chief Guest

Correct statements are

a. I only b. II only c. BothTand I

d. None of the above e. Answer not known

Uelteupld saBmiseiiev gflwmearamenss CHTey Gauis

. usPeaduled Guugss Soeaim sshEy Houb, Gowrs Haibd CUTEH SIS
waaw Capdlw mapeaysellear Curgd Cxdlws Osmy gBmieu.

II. mataufl 29 oeim Gueurdear  alipr Bapayser Cullans (PPEHSCHTH  ((PLILIEHL
aiJT&HenTe0) (YeMID. GRUWITFSHHMevaT (PHEW al(HbHlenmes SmLILImT

a.l w’ @ b. II wi @G c. ] wpmo 1T

d. egiesvenev e. alewL Gafuwealsvemev

Consider the following

Assertion (A):26 January 1950 is celebrated as Republic Day

Reason (R) : At Lahore session, 1929, poorna swaraj or day of complete self-governance
was unofficially declared to be on 26 January, 1930

a. Both A and R are correct and R is correct explanation.

b. A and R are correct and R does not explain A

c. A is true, R is false

d. A is false, R is true

e. Answer not known

SPHOBTBHSLILL [BHeiTen HHaueoseled sfiwnauBmns CaHTHOSBSHS 61(pSHD

aBml (A) . mateufl 26, 1950 GQuigs: Henomerd CaTeBTL ML CILL L &l

amyenid (R): eumani MBMTLIQed, 1929 oub SuewiB, (P SSHATD 1930810 pewih 266
2610 BI6T SSlaNSSLILIL LS.

a. (A) wpp (R) #f Gwaib (R), (A)-&@ sflwmer alendsasid

b. (A) wppibd (R) s eyemed (R), (A)-s@ aflwrer alenssbd ojs060
c. (A)afl semmed (R) seumi

d. (A) seup syemed (R) &

e. alewL G flwailsenso
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89.

90.

91.

Choose the correct statements

L. B.N. Rao was appointed as advisor to the constituent assembly.

II. 64 lakhs was spent to frame the constitution.

II.  Constitution making was spread over the period of 2 years, 11 months and 17
days.

IV.  Original constitution are preserved in the Helium cases in the library of the
Parliament of India.

V. Original constitution had 395 articles in 22 parts and 8 schedules.

a. I II, III b. I III, IV, V c LILIV,V

d. All the above e. Answer not known

SHOBTHHBUILL L alleufmiseled 2 amIenowTar HHaIVHMET HeuILMlbdHl GHMILILIL 6Lb.

L. B.N. gmeil gl Lwei oiGeomgsyns [HuwdbslILL BeTenTiT.

II. SITFlwed HTTUFFLID 2 (HouTdd 64 el Flb CFeveuTed)

I1I. Odlwed Mt FULID o (hauTdhd 61BGHSHIH CBTEWIL&Ted 2 el 11 wrgbL 17
[BT6IT

IV. cpeolIlrs)  (odlwed Semwliyg  FULD) affedwid QUiguisd emeudHdl, BTLTEHLOGIH
BTVSHHL LITHISTHSLILBS B!

V. ool Uggduied  opfwed @itemwud slLdgleo 395  WUfley 22 ugHser 8
SILL6UNGITHEIT G (HHIH60T.

a. [, II, IIT b.IL, IO, IV, V c.IIL IV, V

d. GuomampPlu mesad e el Qs flwalsdensv

Find correctly matched pairs.

1. Article 14 - equality before law

2. Article 15 - Prohibition of discrimination in matters of public employment.
3. Article 16 - Prohibition of discrimination by state

4. Article 17 - abolition of untouchability

5. Article 18 - right to vote

a. 2,3, and 5 only b.1 and 4 only c.1,2,3 only

d. all the above e. Answer not known

gilwmer Senenidemen HeRILMbEH GHMBILILIL6yd

1. slLamm 14 - FLLSHHST (T SIenEITeU(HLD FLOLD

2. FLLIm 15 - Qurgll uenlisefled LTGUTH HHSWD (DIFaLILIENTH6T6D)
3. FlLImm 16 - LOTHleVmIB6T CouBmIeNLOHMET  LiBEHemiLILIG]

4. FlLgmm 17 - SHWILTemD QLI

5. FlLammIl8 - QTG MemLD

a. 2, 3 wmpb 5 b. 1 wBpb 4 c.1,2,3

d. CuBsmpPw Saisaid e el Gafuaisvemso

Choose the correct statements regarding the functions of the council of ministers

L. make laws in the state list and the concurrent list

II. Take part in election of the President of India

III.  Execution of laws.

IV.  Ensure collective and individual responsibility

a.l, and IV only b. I, IIl and IV only c.I, IITand IV only
d. All the above e. Answer not known

SIMFFTHT  GUpaler OCFweoLTHHET GPHSH DEEHEMWIL  HHBaOUODH6M60  FhTaTUBMMBS
BaTH05ESSIS GPINL e

L. LOTH6Y LOBMID BIIHSHT DI L euenanidbeaied &L L LOuIbmIgHed

II. GwaSHmevalT BHTHelled LMOBGHLIL

III. FLLSHMS HOL (LPBLILIGHHIH60

IV.  sellulc wspid &l Guourgiiesny o mig QFui%hed
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92.

93.

94.

a.l wmpd IV w1 @b b. L, III wigwp IVworgnd . I wsgd IV o @b
d. CuBsmpPlw SiemerHHID e. alenL Gafwealsvemnso

Consider the following
Assertion (A) : Pravasi Bharatiya Divas is celebrated on 9t January every year to mark
the contribution of overseas Indian community in the development of India.
Reason (R) : The day commemorates arrival of Mahatma Gandhi in India from South
Africa.
a. Both (A) and (R) are correct and (R) is the correct explanation to (A).
b. Both (A) and (R) are correct but (R) is not the correct explanation to (A)
(A) is True, (R) is false
. (A)is false, (R) is true.
e. Answer not known
LeTau(HeuaTeuBens  SLITUISH
aBm (A) . QeuelpTG eumd @phHwitseller, STul HILG euenTFddbsarer UmS6TLiemL
GumBpid elsTs, @GeTH SLemwihd  eteufl b Brel, OCeuelBETG eumd  @bHAHWwliTHe e
FHlemons  DeFfeSLILIGSBSI.
asmend  (R):  oibg  Brem, wwasrHor  SMhdh O oulifsstalelmbs  BbSHWUTHHDS
Beneiiey Fapild alFHOTEH © 6lTeng)
a. (A) wppd (R) af Guaid (R), (A) &g gfwmer alendssid
b. (A) wppw (R) sfl gemsd (R), (A)de siwrer alenssd 6060
c. (A) s spemed (R) seum
d. (A) seup syemmed (R) &
e. alewL G flwealsbenso

0.0

Choose the correct statements
1. NOTA option was introduced all over India in the seventeenth Loksabha elections

in 2019

It gives right to reject all candidates.

It gives right not to vote in elections secretly

NOTA option has symbol of crossed ballot paper or word NOTA in Bold.

Procedure for NOTA is mentioned in Rule 49-0 of the Representation of People Act

1950.

a. 2 only b. 3 and 4 only c.1,2 and 3 only

d.1,2,3,4and 5 e. Answer not known

gilwrer gBpismens CxHiTa

1. 176ugl wasememeud Bzxizelsd (2019) NOTA eaeid elpuumrens @bAHWT (LpIeuSBELD
SIBPSLILGSHSLILL LS.

2. @5 smadHg GeaulumeniTdamenud BITeflb@Gn o fenwaul aIPHIGHIBSH.

3. B8 BCxTxemaied MTHEHNGHHTION E(HHEGD 2 Menwenuwl JHEFUITS UPHIGSBSI.

4. NOTA ea@ib Gxialesr @GUuiLteig Gumsssd Y (o) Hgbs NOTA  eaaib
UTTSHMSHMWID  O\BTEUTIY(HEbELD

5. waxer UrdBldsseus glLb  1950-60 ealgl 490 e NOTA-a1  BenL(penmael

AN

GOBIUIL UL (BeiTermest
a.2 wl B b.3 wBmid 4 w’ Hid c. 1,2 wspib 3wl G
d.1,2,3,4, wppid 5 e. alewL GaMuialsdemev

Choose the correctly matched pair/s

I. Maintenance and welfare of Parents and Senior citizen Act - 2007
I1. Right to education Act - 2005

III. ~ Right to information Act - 2009

IV.  Protection of Children from sexual offences Act - 2012
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a.land IV only b. II and III only c.I, Tand III

d. All the above e. Answer not known

Weteumereummie gflwmasll QUM mhaujeren Senewidemend GHTHOH®

L. apss Gwsser wBBId CuBEBIT BHeverssT LFTLAlYF Frb - 2007

II. seval o flewwos gL - 2005

III. sseusd o Menwg gL - 2009

IV. urelwed GmmribeaNelBbdHl GHLHMBBMEN LUTHIETSGHD FUL b - 2012

a. I wmpw IV wl @G b. Il w@pid I wr @b c. II wpmw III
d. GuoBseatiL SEMEIHHID e. alewL GaMuwealsvemev

95.  Electoral college of the President consists of

L. Elected members of both houses of the Parliament

II. Elected members of the state legislative assemblies and union territories.

[I.  Nominated members of the both houses of Parliament.

IV.  Nominated members of the state legislative assembles and union territories.
a. I and III only b. I and II only c. L I, Il only

d. All the above e. Answer not known

GLWIssH HmevalmIdh BFTe] CFUILILD 6UTHSTENT G (DTS

L. uTgTEpLaB Bm Slmeuular GxiTey GEuiwiiul L o miiferTael

II. LOMHl60 FLLIOGIBD WwB@Ib upelwer LUjCssmseaier sy OQouiwbul L o piiNerraen
III. UTIT@BHLOGTIB &(H Sleneuullest HUIoeT o mIUiLilerTeei

IV.  omhev s Lwemd wppid wellwer LHrCssmiselenr Bluwwer 2 mililermaser

a. [oppd 1T o1 B b. I wpmid 11w Gib c. I, II, IIT w1 (Bib

d. GupsgmpPu Semarsaid €. el OFfluialevemen

96.  Consider the following statements and choose correct option.
Assertion (A) : For the first time in 1989, the President appointed 2 more election
Commissioners making Election commission of India as a 3 member body.
Reason (R) : 615t constitutional Amendment Act, 1988 reduced voting age from 21 to 18
years.
a. Both A and R are correct and R is correct explanation for A.
b. Both A and R are correct and R is not explanation for A
c. A is true, R is false
d. A is false, R is true
e. Answer not known
LeiTeU(hLD FnBmISmeNs &H([HSDID.
aBml (A) ;0 1989-60 @uwrssh  sHmeveugmed  Gueud 2 CaiTmed  ememtwiTEel
BwlSsIUl L HeT  cpeold  DbhHUl  CHTHL eWEmILILOTRIH  (PHET  (PpFHeoTsds 3 2 miliileot
OFTewIL  SIENLOLILTEIG
amyend (R): 6leug Spdlweveniolis HbhSHHF FLULD 1988-61 L auTdHHeMb@GHlD  aUULISTRIH
21 0pbaEH 18 BdH GHMBSHBLILILL FI.
a. (A) wpmpid (R) & Goeid (R) ereiiugy aflwimen aflemdasiomgLd
b. (A) wppib (R) afl Guweud (R) eteiiug sflwmer alendaiosoen
c. (A) afl (R) seuprerg
d. (A) saum, (R) sflwreng
e. alemL O fluwailsenso

97.  Match the following and choose correct one

Article Provisions

A. Article 24 1. Free and compulsory education upto 14 years

B. Article 21 A 2. No child below 14 years can be employed in hazardous
employment
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98.

C. Article 45 3. Right to free and compulsory education to all children

of 6 to 14 years.

D. Article 39 4. Provision of opportunity for healthy development of
children

A B C D

a. 1 2 3 4

b. 4 3 2 1

C. 2 3 4 1

d. 2 3 1 4

e. Answer not known

CUIT(HSHSI:

FLL &G BIH6IT FmLiysei

A. srdg 24 1.14 auwigl euemy Beveud BmID S Lmul HevaluwlefssHed

B. sr5a 21A 2. SuUTWsILTEr Umisaied 14 euuHBSLULL  GLbmSsen Liewflfiw
HEOL

C. sr5a 45 3. 6 — 14 aawg@BGLLU L SmaTSHIl GHWHMSEHEHEHGSWD @6veudF LOBHILD
sLLTW Heoaleumid 2 flenip

D. gysa 39 4. GWHMBHH6T Hev Gobum pBsTer aurWililener o6 ddH6e0

A B C D

a 1 2 3 4

b. 4 3 2 1

C. 2 3 4 1

d. 2 3 1 4

e. alewL G flwealsbenso

Match the following committee and recommendation

A. Balwant Rai Mehta (1957) 1. 3 tier panchayat raj

B. Ashok Mehta (1977) 2. concept of “grass without roots’

C. GVK Rao (1985) 3. Constitutional status to local bodies.

D. LM Singhvi (1986) 4. 2 tier Panchayat and involvement of political parties
A B C D

a. 1 2 3 4

b. 1 3 2 4

C. 1 4 2 3

d. 1 4 3 2

e. Answer not known

QUTHSHSHIH:

A. vevaupbsyTuwl Gug st (1957) 1. 3 9B&H6 UEHFTWSHSH JT

B. ©Bsms Guwsst (1977) 2. 7Gougmm UBse” (pews

C. GVK gmeir (1985) 3. o_eitenm’ & SIMIOLILBEHHESG DITFUIOMIOIIL] DIHSHeTOSH

D. eev.e1p. dmiad (1986) 4. 2 9B UeEHFTWSHS (10) Ddlwed &L dserie

umGsBL

A B C D

a 1 2 3 4

b. 1 3 2 4

C. 1 4 2 3

d. 1 4 3 2

e. alemL O fluwalsenso
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99.

100.

101.

Choose the correct statements.

L. Lord Ripon is considered as the father of the local self government in the country.

I1. Panchayat Raj system was introduced in Nagaur district of Rajasthan on October
2,1959

Choose correct statements.

a. I only b. I only c. BothIand II

d. None of above e. Answer not known

giwmer sgBoismens Caihos®h

L. BT g6 2 6ftenml & Semioliseflen Hpendwinsgs fluer LTy SmSHLubGSImT.

II. BBLTUT 2,  1959-60  gUmgervSTelled  BISLT T L SHH6L  UehFTWHSH [T
(POBWTETH HIBIPSUILIL HSLILL L F.

a.l w @G b. I " @Gwb c. ] wppd I Byewi®Gid
d. egiefevenco e. alenL Gafwealsvenso
Consider Articles under 734 constitutional Amendment Act 1992.
A. Article 243 A 1. Gram Sabha
B. Article 243 D 2. Reservation of seats
C. Article 243 1 3. State Finance Commission
D. Article 243 K 4. State Election Commission
A B C D
a. 1 2 3 4
b. 1 3 2 4
C. 1 2 4 3
d. 2 1 3 4

e. Answer not known
736ug SIFFweoemoliLig SH(hHHEF FLULID 1992-601 FTHHIBMENDH H(HDHIS.
A. sl Lsammp 243 A Symo gL
B. gl Léamm 243 D BL RHHS_(B (LpevB
C.glLéammp 2431 LOMHleY &G
D. sl Léamp 243 K OMHley CHTHe0 SLEm6mTULILD

A B
a 1
b. 1
C. 1
d
e.

N W N
N N Ao

C

3

2

4

. 2 1 3
alenL O fluiaisoensv

Consider the following statements

L. Periyar E.V. Ramasamy became the chairman of Erode Municipality in 1917

II. Piped water supply implemented in 1919 was the first of the kind in the history of
Indian Municipal Administration

a. [ is correct b. Il is correct c. Both are correct

d. None of statement is correct e. Answer not known

LeiTeU(HLD FnBmIBemen LIS

L. 1917 s0 Quiflwn wm.Geu.gmogms FCIm® BHBEITL FUN6T HEDEVEUTTEIITT.

II. @b BSITLS miTteuTs eupeomdrled 1919-60 (WH6L (PMOBWTS  GOTUI  LPEVLD G LQHIT
AlBGWTsHD DI(LPSLOTETSH

a. app 1 &M b. samu I &f C. @yewipd &

d. eigieyb gflusvev e. alewL GaMuwielsdemev
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102.  Match the following with correct options.

A. Zila Parishad 1. Village

B. Gram Sabha 2. Mayor

C. Ward Committee 3. Chairman

D. Panchayat Union 4. District collector

E. Corporation 5. Municipalities
A B C D E

a. 3 1 5 4 2

b. 4 2 1 5 3

C. 5 3 2 1 4

d. 1 4 3 2 5

e. Answer not known

QUTHSSH:

A. 29ebeor uUfagsg 1. &ymob

B. &gmo gFemu 2. GowiT

C. amip &Ww 3. HEWEVEUT

D. uehsmwsHgs @b 4. wreul L gy fuiT

E. wmpaym g 5. BBITLFH6l
A B C D E

a. 3 1 5 4 2

b. 4 2 1 5 3

C. 5 3 2 1 4

d. 1 4 3 2 5

e. alewL Oz flwealsbenso

103.  Match the following
A Chairman of drafting committee 1. H.C. Mukkherjee

B. President of constituent assembly 2. Prem Behari Narain Raizada
C. Vice-president of assembly 3. Dr. B.R. Ambedkar
D. Calligrapher 4. Dr. Rajendra Prasad
A B C D
a. 1 2 3 4
b. 2 3 4 1
C. 3 4 1 2
d. 3 4 2 1
e. Answer not known
CUITHSHSI%:

—

A. auemyayd SO 1QulleT Heneveau . H.C. wpsaired
B. oppdlwed sy semeus semeveu 2. LIGrd Guemfl mrymwest GuigmLm

C. simouuien glenentd, HeneveuT 3. Dr. B.R. oubBugami
D. eaugeuenioriumenT (oyydluleventoriL]
FLLSHMS 6I(1pFHWIAUT) 4. Dr. gnB@xbdy ysns
A B C D
a 1 2 3 4
b. 2 3 4 1
C. 3 4 1 2
d. 3 4 2 1
e. alenL Oz flwalsvenso
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104.  Match following with correct options.

A. Habeas Corpus
B. Mandamus

C. Certiorari
D. Prohibition

E. Quowarranto

A B C
a 1 5 4
b 1 2 4
C. 1 3 4
d. 1 2 3
QUTHHSHIH:

A. GamLiwerd smiruerd
B. wesimoerd

C. QamgGuimy
D. s &gl LI
E

. Gam-aunmyetGL

an o
e N,
N W DN O™

1. Safeguard people from illegal arrest

2. Quashes order issued by subordinate court overstepping
its Jurisdiction

3. Prevents usurpation of public office through illegal manner
4. Prohibits subordinate court from acting beyond its
jurisdiction

5. Protects petitioner who requires legal help to get his work
done by public authority.

D E
2 3
5 3
2 5
4 5 e. Answer not known

1. FLLSHHBG UBLUTET MEBH CFUISHMEL HHEHH60

2. &b BEH WwaIPD, H&1 eugbenLl, WP GUTLL Sienemienu! J&HSI
Qau1560

3. QUTEH SIVIIVSEHIGBMET, FLLSHIHME LBLOLITET (LpenBuiled
SIS FH60

4. SPHene0 HHIDGIBRISET, DIH6TT DISHSTIGUFLDML  LEBLPIQUITLOGD
HemL  OFUIHe0

5. weEISTPT, QuTH BHev SHeETlLD HardbEHdh CHemeuwimen

16w Hem61T & CauIgI0STeTeT, &L_LLJ,TeULDT6OT 2 galsemenLl
CuBIUHBG euf CFUISH60.

D E

2 3

5 3

2 5

4 5 e. alowL Gafuwalsdenso

105.  Match the following amendments.

A. 42rd Amendment 1976
B. 44th Amendment 1978

C. 86th Amendment 2002
D. 7th Amendment, 1956

A B C
a. 1 2 3
b. 4 3 2
C. 4 1 2
d. 1 4 2
QUTHSHHIH:

1. Right to property (Art 31) made legal right under
Art 300 - A in part XII

2. Elementary education made Fundamental right
under Article 21A

3. Abolished fourfold classification of territories

4. Transfered 5 subjects from state list to concurrent list

W W g

e. Answer not known

FLLLTeUmBpmISeT (SIFFuieosnioli] &L L 1D)
A. 426ug FULSHmISHD 1976 1. Qargaifiemw (slLdsmp 31) slLlyien o fevowins

FlLsamp 300 - A ugs XII

B. 44eug s 1L sHmbaD 1978 2. 5L L&amm 21-A D OFT_ss556001 DlgliLienL
o _MenWITSSILL L F|.
C. 866ug g L F sz 2002 3. preiE SIBHG Lfley BohaslilL g

D. 76ugl 5L 53 hSHSLD

4. wrHev DI L euenemtuled(hbEH 5-097SHHIHSH6T,
OHTLBleme0 DIMLOLILHEH6T OBTeTBHEUTLILIL L 6.
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A B C D
a 1 2 3 4
b. 4 3 2 1
C. 4 1 2 3
d. 1 4 2 3
e. alemL Gz flwailsvenso
106.  Match following with correct options.
Provision Source
A. Liberty, equality 1. USSR
B. Fundamental rights 2. France
C. Directive principles 3. USA
D. Fundamental duties 4. Canada
5. Ireland
A B C D
a. 1 3 5 4
b. 2 3 5 1
C. 2 3 5 4
d. 2 3 4 1
e. Answer not known
OUIT(hSSIH:
S(HHSI SIBBTLI9eV(BHSHI CETeTend SLHTID 6IBHSHHIHOBTETETLILIL L .
A. sghIrD, Fosgeud 1. Camalwg gagwim
B. owgliuemL 2 fleninseit 2. Lymeiterd
C. auflasm B OBsl(wenBser 3. 9I0wfés W& BTG
D. swliuemL & &L aninsbeit 4. SHEILIT
5. STeOTbHGI
A B C D
a. 1 3 5 4
b. 2 3 5 1
C. 2 3 5 4
d. 2 3 4 1
e. alewL Oz flwelsvenso
107.  Consider following statements.

I. National emergency (Article 352) has been declared thrice in 1962, 1971 and 1975.
II. State emergency (Article 356) was implemented for the first time in Punjab in 1951
III. Financial Emergency (Article 360) was implemented only once in 1991

Correct statements are
a. I only
d. All the above

b.Iand II only
e. Answer not known

c. I only

S&HOBTHHHUILL (BHelTenn CFuIFHsefed Fhwmareupens CaHTHOSHHHHIS GBI ayb
[. Gpdw owugy Pewev agrhal 352 LFsLend apem (wens Gauwudu’ gl (1962, 1971,

1975)

II. e Senalevrenr SeUF) Heweoll LITELND a9JHH 356 S (PpHeT (PGHedle0 LighamLied

195160 OIBlNSBSLILILL GI.

III. M8 Mewev syl LIFsLaIDd a9rshaml 360, 1991 60 B8 @b (WemB DIDEUTHSBLILIL L F).

a.l wl G
d. CuBsmpPlw SienerHHID
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b. 1 wimw II
e. alewL Gaflualsdenso

c. II ' @
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108.

109.

110.

Match following with correct options

Schedule Subject Matter
A. Seventh 1. Division of powers between union & states
B. eighth 2. Disqualification due to defection
C. Ninth 3. Protecting laws violating fundamental rights from Judicial
scrutiny
D. Tenth 4. 22 official languages
A B C D
a 1 4 3 2
b 4 1 3 2
c 1 4 2 3
d 1 2 3 4
e. Answer not known
OUIT(hSSIH:
SIL_L_6)6n680T Qum(merL &aLd
A. gpmeugl 1. gemiw & LTHEVRISEHSHTET DIHSTTLD
B. eLmeug 2. sl wLIBUSHTO gBUBL HSHEH BHHHLD
C. @augrag 3. pFHwes CFTHemen LOBEBID SlgliLienL. o fenloll UTGISTLIL
D. ussmeug 4. 22 oeued GlomPaei
A B C D
a. 1 4 3 2
b. 4 1 3 2
C. 1 4 2 3
d. 1 2 3 4
e. alewL Oaflwealebenso
Consider the statements regarding the suspension of Fundamental Rights during
emergency.
L. proclamation of national emergency under Article 352 automatically suspends. 6

Fundamental rights under Article 19 during war or external aggression
II. Article 359 authorise the president to suspend all fundamental rights except

Article 20 and 21.
Correct statements are
a. I only b. II only c. BothIand I
d. None of above e. Answer not known
SIUFTHMEL BTeLHH60, SlgliLienL. o flensEndHE F60 HMLH6IT 2 _HILTGD DISTeUSDI
L. Sugy  Hemev  LUgasLendder  Curgl, FLLgmm 352 &1 S, FLLFEmB 1960

Carhsbaiul(eten 6, Sl o Menwser  Gunidsmed, LBBID  SELSHWBB
GLDBmeVHerled THHTELD.

II. FLLSEB 359, FLLEFImM 20 wBnIp 21 Haly, Dimaihd DlgliumL o flensemenu|d,
ITHGH CFIW GQUWIESH SHMeVa(HdHEG DHSTID DielbH Bl

gilwmen snBpIBmend CaHTHOSHMH

a.l o’ @ b. I " @B c. ] wpp II

d. gsafevemen e. alewL GaMuwielsdemsv

Choose the correct statement/s regarding State Legislative Council
1. Article 169 mentions procedure for creation of legislative council in states.
2. State legislative assembly passes a resolution favouring creation or abolition of the
legislative council through simple majority
3. According to resolution passed, parliament can create or abolish legislative council
through simple majority.
a.1,2 b.1,3 c.2,3 d. All the above e. Answer not known
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111.

112.

113.

114.

115.

omHlev &L Guwevenault uBBluw Flwmer gBm / sBoisamen Gxits

1. wiplevmsefled FlL Gevemeuenl SImSHGD (emB UBB FLL&EFmBI 169 alend@Sngl

2. wMHev FULLFMU FTHTJewr GUIHLDLTEIEHD o MUleTaeT SpHJey Oumbml, I FlL
Boevenaiemul DIMIDEHEAIT HEneLSHBET (LPIQULD.

3. UMITEHLOGTBSHSTe0, HenpGauBmliul L  STOTRIRIGET  clpeold  IHed FUL  Gevenelsmul
OIoEHHCT /[ BMedEsCaum  (puid  (FTHTrewt  GuUEpbUTEED 2 miileTaert
S4BTCaITH)

a. 1, 2 b. 1, 3 c. 2,3 d. 8ma gmarbsHd e ol OFflwalsveneo

Primary goal of the welfare state is to achieve

a. Freedom to all b. Political justice c. Social Justice
d. Employment to all e. Answer not known

DSHFHEIT [H6V DTF&T (PHETMLD GHWIHCHTET 6ItTLHI 6160 iDL UG ?

a. SIMTEU[HEBGLOTET FHHAH LD b. apduwe B C. Fpd bHF

d. amaraume@Te GauemeOeuTUILIL e. alewL Ggflwalsvenso

"Jallikattu' is supported based on in Indian constitution.

a. Article 21 b. Article 19 (1) (e) c. Article 25

d. Article 29(1) e. Answer not known

Obsw  opFwevemiiied  "mevelssl B 6hE  OFWevenoli]  FIHSH  SlglienLuiled
2 _SHHeunsd SieMdbslul (hetengl?

a. a76a 21 b. gr5a 19(1) (e) c. ap5Ha 25

d. sgsa 29(1) e. alew Ozflwuaiseney

Which of the following is not guaranteed under Article 21 protection of life and personal

liberty?
a. Right to information b. Right to privacy
c. Right to travel within country d. Right to travel abroad

e. Answer not known

SONBUT  SHHSHTD  OBDBID  eumbaiBarer UTHSTUUNSGD FTHH 2161 S o2 HAHTeunHd
SleflbaiuLTsHgs?

a. saae0 Pl 2 Menio b. seiufleno

c. BT B&eT LweliiugBatear o fleovw  d. QuwepThsEhHEG CFcvaugHBsTea o fenp

e. alewL Oxflwelsvenso

Which are the moral obligation of the citizen to uphold unity and integrity of the

country?
a. Fundamental rights b. Preamble
c. Fundamental duties d. Directive principles of state policy

e. Answer not known

GdHeie 6hd BHAHOBY SLUUTH BTLIQET @BBIENLD LOBEBID  @HEOLILTL ML LTHISTHS
2_selEng!?

a. oL o_fenioselt b. waliyeny

C. SIQUILIHL &L 6NLDSHEIT d. epdler euflar G GCBpi(WwenBHeN

e. alemL O flwailsenso

Consider the following statements and choose the correct answer

Assertion (A): Fundamental duties were added to the constitution by the 42nd
Amendment. 1976 based on Swaran singh committee recommendations.

Reason (R) : Help Indian citizens understand the importance of growth maintaining
peace and harmony.

34 | Page PH: 044 - 24339436, 42867555, 9840226187




116.

117.

118.

a. A and R are correct and R is correct explanation for A

b. A and R are correct and R does not explain A

c. A is true, R is false

d. A is false, R is true

e. Answer not known

Weteupld Snmpmiseied Fflwmenr alenLemwl GHitey OFUIsm.

amm (A) © OlQlUedL.  SLeOS6T, eveufemidm Gl ufbaienysefeily, 42  eugl
FLLAHMBSSHD 1976, cpeoons SFFluleoentoliied CaTealuL L gi.

smgewid (R) : @& Biliged Sowd HBDID HeOelabssHme LUTHISTHSH  eU6TTLILSBSTET
(WPSHHWHFHIUHMB BHHW GHgdHHen LfhaisosTeTen o 56 dnal.

a. (A) wppd (R) GremiGw &f, wppid (R) eewug (A) elBstear gfwrer allerssongLb.

b. (A) wBpw (R) Gremigw s wBpw (R) ewus (A) elBstear ghuwre STIeRILOO6D

c. (A) &M wppd (R) seum

d. (A) seup wppid (R) &

e. alemL Oz flwailsoemnso

Match following with correct option.

Country Parliament
A. Israel 1. Knesset
B. Norway 2. Bundestag
C. Russia 3. Storting
D. Germany 4. Duma

A B C D
a. 4 3 1 -
b. 1 3 4 2
C. 1 2 4 3
d. 2 3 1 4
e. Answer not known
CUT(HS HIS:
O] LI T(@ThLO6STBLD
A. ®ertGyev 1. GBROFL
B. mmiGeu 2. USIL6rOL T
C. yaguwr 3. eroBLmiTgmi
D. Gggmoed 4. (Bom

A B C D
a. 4 3 1 2
b. 1 3 4 2
C. 1 2 4 3
d. 2 3 1 4
e. alewL G flwailsenso

Which book is referred to as the "Bible of the working class".

a. The Prince b. Leviathan ¢. Communist Manifesto
d. Das capital e. Answer not known

"o PSS alTdsHHer ewuLlen eer alleufldslLBL LUHHHLD 6157

a. Lflesrerd b. Gevelwigest C. QUTgI|mL M DN SN
d. cweosmend e. alewL GaMuwealsdemev

Indian Independence Act, 1947 received assent on
a. 18 July 1947 b. 26 January 1947 c. 14 August 1947
d. None of these e. Answer not known
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@hIHW FHHATF FULID, 1947 &G e@Uupeo QupliulLg?

a. 18 ofemev 1947
d. egiefevenso

b. 26 eeufl 1947 c. 14 symerv® 1947
e. alewL Gzflualsdenso

119.  Match following with correct options

A. Shiromani Akali Dal
B. Rashtriya Janata Dal
C. Telugu Desam Party

1. Telangana
2. Andhra Pradesh
3. Maharashtra

D. People democratic party 4. Punjab

E. Shiv sena

A B C
a 1 2 3
b 5 4 3
C 4 6 2
d 4 6 1

e. Answer not known

5. Jammu and Kashmir
6. Bihar

GUN e
W W R Ul

SLpdheHeniLauiens Fhwrer allenl L6l CUT(HHSHIS.

A. F@ymetnoenll &iBT6edH6NID
B. greal flu mensm Hend
C. Opaumig Bzgb &L &
D. menpmwis 10dH6T SLg
E. flouGaeum

A
a 1
b. 5
C. 4
d
e.

o N T

C

3

3

2

. 4 6 1
alewL  OFflwaisdensv

OHeVImISTEIT

SbSI0 L6HeD
LOSTITAIQT

LighgmLl

oI (LBBID) HTAROT
et

W WRE OamaWn kB

1 U1 N &=

120.  Match list I with List II and choose the correct option using codes given below.

List I
A. FPTP
B. Block vote

C. Alternate vote

D. Tworound system
A B C

a. 4 1 3

b. 1 2 4

C. 4 3 2

d. 3 4 2

e. Answer not known

List II

1. Kuwait
2. Iran

3. Australia
4. India

== Wi g

Car®BaslIulBeTeneuBenmll LwebhHs ulguiso I o Ler ulpuwesd I & sflunsll QuImSSIs.

uliguied I
A.FPTP

B. Osm1ed aundg
C. oty aunéG,
D.8wsso wpeop

ulguieo 1T

1. GmausH

2. FFJITGOT

3. oevgGredwim
4. @bFHuwr
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B
1
2
3

W Ry

C
3
4
2
2

== Wb g

a
b.
C.
d. 4
e. alemL Oz flwailsvenso
121.  Find the incorrectly matched pair.

a. Tanka committee - 1974 b. Vohra committee - 1993

c. Dinesh Goswami committee - 1990 d. Indrajith Gupta committee - 1998

e. Answer not known

SHUBTHL QUIT(HHH UW6ITEN DeNemTenuids SHewIL 5.

a.Lm&m G — 1974 b. Gaumgm @ — 1993

. HBamay Bamerveumsl Gy — 1990 d. 8p8129% GUsT G — 1998

e. alemL Oz flwailsvenso

122.  Match the following

A. Taxpaying residents of a village 1. parganas

B. Adult men in Brahmana villages 2. Subhas

C. Union of villages 3. ur

D. Provinces 4. Mahasabha
A B C D

a. 4 3 2 1

b. 4 3 1 Q2

C. 3 4 1 2

d. 3 4 2 1

e. Answer not known
SLpSH &L aUBBL  CLIT(HHSHISH:

A. AymosAHet aufl QFeSHHID GHQUIHLILTETE6T 1. UTHTEITSHH6IT

B. Wgmwewr Symomiseiievieien (LpghGuimit 2. FMULBGIT

C. dymoriseien e(hHmigenemtliL| 3. oenf

D. onsmewmimickel 4. &HTFML
A B C D

a. 4 3 2 1

b. 4 3 1 2

C. 3 4 1 2

d 3 4 2 1

e. alewL Oz flwelsvenso

123.  Match the following

A. Kaka kalelkar commission 1.1951

B. First amendment 2.1979

C. Second backward class commission 3.1953

D. Indra sawhney vs Union of India case 4.1992
A B C D

a. 3 2 1 4

b. 3 2 4 1

C. 1 3 2 4

d. 3 1 2 4

e. Answer not known
37 | Page PH: 044 - 24339436, 42867555, 9840226187




124.

125.

126.

127.

QUTHSHHIH:

A. 3181 HB6060BT LEMEUUTUILD 1. 1951
B. paed FULSHHHSHHD 2.1979
C. gyewiLmeugl LIBUGSSIULGLIT SenemrDd 3.1953
D. @bdyr sgamrel et @bHw welue aupdE 4.1992
A B C D
a 3 2 1 4
b. 3 2 4 1
C. 1 3 2 4
d 3 1 2 4
e. alenL Oz flwalsoemnso
The nobel laureate who advocated 7 types of inequality was
a. Keynes b. Mahbub ul Haq c. Amartya Sen
d. Bothband c e. Answer not known
Gpmued ufla QuBB wgmed 7 eligomer UTGUTGS6T LILguieilL L L gl?
a. &ebierd b. Qe 2 60 amd C. SITSHHAWT GFe
d. b @b ¢ e. alewL OxMwaledenso

Which of the following best denotes social Justice?

a. Special laws and privileges to the underprivileged communities

b. Delegation of equal power to people

C. Struggle by weaker groups to establish equal society through equal opportunity
d. System based on collective ownership emphasizing equality

e. Answer not known

SIS HEWILUBMBIGT Feps bW FpUuTesd GUEGWD STyewni 61gl?

FImaHeNBB  Lflalenmsd dplumer FlLmsmenud, (Wpeiraiflenosemenid giubBSHSHIgH6e0
W&SEHEE &0 PN LTHHSSHSIUSHMS CUIPEIGH60

g0 UTUILILS6T (PeOD FLOSHSHIO FUPHTUIHMS SlenL W Lievaferomen @ pdbaeer Gumym®Ggeo
FIHIHUGHMSH UIWBISHID Sl (B 2 Menweul HeneObTL (HFHeo

alewL  OFfluwalsdensv

®an o

Periyar passed a resolution regarding communal representation in education and
employment in congress party conference held at
a. Salem, 1944 b. Kancheepuram, 1925 c. Kanyakumari, 1926

d. Tiruvannamalai, 1926 e. Answer not known

QuilwnT ops seval, Gouemev suruiiysefed eauGlyeumfl LFHHdsaeud Carmb SHToTardhend
Camewiheubd SThISTerd S & IHT6H

a. Gzeud, 1944 b. smehdlyyid 1925 C. seeiwm@ofl 1926

d. Fmeuswiemmoenev 1926 e. el Gafuiaisvemnso

Reservation policy of Tamil Nadu was placed under IX Schedule of the constitution
according to
a. Ist amendment Act b. 7th Amendment Act c. 96t Amendment Act

d. 76th Amendment Act  e. Answer not known

SIFwevenol &l deugkHl SILLeueneniuiledl S  emeubSLILL BeTen SODEHTLIET B @HHSL (Hd
CaTeTens OHTLTLemLWIgI?

a. WP HpSaF UL b, Teug Hmpdss FLLD C. 966Uz HHHHF FLLID

d. 76um HpHHF FLLD e ol GFHflwelsvensv

38 | Page PH: 044 - 24339436, 42867555, 9840226187




128.

129.

130.

131.

Why was E.V. Ramaswamy given the title ‘Periyar’?
a. For his role in emancipation of lower caste
b. For his role in empowerment of women
c. For his fight against religious superstitions
d. All the above
e. Answer not known
F.O6u. gmogmblag QuflwmT eenib LLLID 66T eUPMISLILILL GI?
&g wsHeeller alHHemevbsTsds LTHLL L.
OLICTHEHHG DB STTLO6T SSLILITHLILLITT.
OSHLDET  CPLBLDLISemEHHm6N 6IHTHSI GUmigeotTit
GLoBaHemiL  SImETHSHID
alemL Qg fualsoensv

®an o

Where was the first samathuvapuram established?

a. Melakkottai, Madurai b. Thagattur, Nagapattnam
c. Kadambathur, Thiruvallur d. Malligaipatrri, Tiruchy
e. Answer not known

(P FLOSSHILTLOTOIH 61RIG GgBLBSSLILILLSHI?

a. BuevsGaTL L, LDGHIEN] b. s& @, BHTSIUL Q6D

C. SLIDUSSHNT, H(HEU6TEHT d. wevelemausf, Hmed

e. alewL Gz flwealsbenso

Match following

A. Tamil daily 1. India

B. English monthly 2. Suryothayam

C. Local weekly 3. Vijaya

D. Tamil Weekly 4. Bala Baratham
A B C

a. 1 2 3

b. 4 3 2

C. 1 2 4

d 3 4 2

e. Answer not known

OUIT(hSSIH:

A. pilp FHesl

B. symidlev 1omg @i

C. 2 siienT auty Ssw

D. sublp ey @sip
A B

a 1

b. 4

C. 1

d

e.

_ W e

SpHum
G&TCwTsWILD
afleguim

Ume0  LIMJ&HLD

el

N W N

C
3
2
4
2

RN

. 3 4
alenL  Ogfluialsvensv

Match the following

A. Death of Bharathiyar 1.1926
B. Death of Singaravelar 2.1973
C. Death of Periyar 3. 1946
D. Passage of labour protective law 4.1921
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132.

133.

134.

A B C D
a 1 2 3 4
b 4 3 2 1
C 2 3 4 1
d 3 2 1 4
e. Answer not known
QUTHHSHIH:
A. ungAwimiest @i 1.1926
B. dmismyGaisvfesr @miiL 2.1973
C. Quilwnt @Bhaal 3.1946

D. Gsmpeomenit ungismiy FULomeig BensGaupsiwugi 4.1921
A B C D

a 1 2 3 4
b. 4 3 2 1
C. 2 3 4 1
d 3 2 1 4
e. alewL Oz flwealsvenso

The 4274 Amendment changed the words of Preamble “unity of the Nation” to?
a. Union of States

b. Unity and integrity of the Nation

c. Unity, fraternity and integrity of the Nation

d. India that is Bharat

e. Answer not known

ObhHw  opFmwllear  42-auFh  HHBHHFFLLID SpFmwliiear  (walyemgulled  gnpriul (heiterm
‘BILIQT @BBImD’ a3 QFTBOBTLmy _ aaipib ailfleyliuGdHauemengi

a. LOMHleVmIG6NT 60T GedTp3ILLILD

b. BT 196 PBUIM WOBBID QEHMLOLILTH

C. BTLIg6 @Bmiend, FEHTHIHSHIUD OBBID eHEMLOLILIT(H

d. @bdHw umysid

e. alewL Oz fwailsenso

Power of parliament to amend Art. 368 needs which type of amendment process?
a. Simple majority

b. Special majority

c. Special majority with consent of states

d. Cannot amend Art. 368 itself

e. Answer not known

SITFMOLIL| [HEDL (LPENBHMET  H(HHSHWMOSHEGID BILTEHLOMIBSHSHT HHSMID (2@ — 368)
— 8 FHHHH CHmaUlILBD HOL (LPHBEOUW FnBIb.

a. HeNUCLHLDLITEITENLD

b. Apriy Qu(pLDLITETEHLD

C. iy GUIHLDUTETENLOU]L 65T LOT[HI6VMIG6 M6 eLIL|GHeVILD

d. sl sgmm 368 — &, HBHs Buieong

e. alenL Oz flwalsvemnso

Which Indian leader laid the idea of Secularism in the mind of the people?
a. Jawaharlal Nehru b. K. Kamaraj c. M.K.Gandhi
d. Rabindranath Tagore e. Answer not known
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@hHWTalet 6hEH HMEVeUT LDHH6NT LOAIGHH 60 FIOWFFTTLIGIENID 6160IB H(HHH ML LIS SHSHTT?
a. MauamsTeoTe0 Gh(H b. K. &moyre c. M.K. snphg)
d. 8rbsIHTsH ST e. alewL Gzflualsbenso

135.  In Indian Constitution ‘Secular State” Mean
1. State Protects all religion equally
2. State shall not uphold any religion as the State religion
3. Secularism is the basic structure of the Indian Constitution
4. State neglect all religions
a.1, 2 are correct - 3, 4 are incorrect b. 2, 3 are correct - 1, 4 are incorrect
c. 1, 2, 3 are correct 4, only incorrect d. 4 only correct, 1, 2, 3 are incorrect

e. Answer not known

@b oFlweenoliied Fowl FTTUBB auTHmSulle DITSHHD eleiter?

. OIIg SIMATHSH LOHHIGBMET HTHDB BB

2. 6hH SIIFHD 6D HHMSHUD HENWTS 2 UWITHHDHInLTH

3. Fwow FTTUBB 6168 CFTe0 DITFFWIELMDLILTET DIQLILIDL LS LD.

4. OIIF SIMBNHFH LOHHIBMETUD LIBSHHNSS MBS

a.1, 2 afl — 3, 4 seuy b.2, 3 #f — 1, 4 By
c.1, 2,3 afl — 4 ' BD Heouyl d.4 wiebp FM, 1, 2, 3 sam
e. alewL Oxflwealsvenso

136.  Who is the chief legal adviser of the Government of India?
a. Chief Justice of India b. Attorney General of India
c. Union Law Minister d. Cabinet Secretary
e. Answer not known
ObhHw SpFler Hemevend FLUL GeorgsT WmT?
a. 2 _FFHII0OIB SHMeVMLD BHHILIF b. waHw SPHeT HMeLMID GULDEBNI EhIT
C. HHUW FLL SIEMDFSFT d. GxaGemn. GFuweol
e. alewL Oz flwelebenso

137.  Indian Forest service was established as the third All - India service in the year

a. 1965 b. 1966 c. 1967 d. 1968 e. Answer not known

BhFHw eueriLenil peBTaSH DIF60 @HAHW Ueelwms Bpeulul L S 6

a. 1965 b. 1966 c. 1967 d. 1968 e. el G flualsiene
138.  Consider the following statements:

L. The Indian fundamental rights are absolute.

II. The fundamental rights are enforceable.

Which of the above statements are true?

a.Hyonly  b.(II) only c.(I)and (II) d. None of these  e. Answer not known
SIDHBTETILBD QUTHBUIBIBNET  H(HSHID.

L. @phHwmaled SigliLienL. o fenodeT (L(LYeMLOWITETENE!

II. Sl 2 MenseT HmL (LPOBLBGSHSH FnlgUleney

GBsv HTEMIILBL Fn@BmIBeiev Fflwmerenel ereneu?

a. Il @G b.Mlw G c.lwppd II d Gome agendcoeme e. el GQxHfluwalsdensd

139.  Which of the following is not the function of the finance commission?
a. Torecommend the distribution between union and state of the net proceeds of taxes
b. Suggest the principles which should govern the grants-in-aid of the States
c. Suggest measures to augment the consolidated fund of a State in order to
supplement the resources of the Panchayats and Municipalities
d. To formulate a plan for the most effective utilisation of the country’s resources
e. Answer not known
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140.

141.

142.

143.

144.

SIPHEWTLUBMIET B DpememiwiShHen LIFHTer QFweoLmd DIeL60TH 6B GHMILLILaD?

a. eoflsefler By QU(THLOT6OT &3] 6601 DSHSHUI LOBmILD LOMTHI6V LY @emL_ufed
alpCwralss UfbaiemyliLg

b. wiPoRsEndEG o HeoyusBaTar TSIWBGmeT BiTeudlds Goueingwl QEBTeTENHHM6I
ufibgieny CFulsugi.

C. UehaTwSHSH WLBBID BSITL BN eUMHIBMm6N FnBH60TH 6(h MBS e(HHIBEN6wIHD
PaHeow 9IHsMNEHES BLAIgHMBHM6T LIfHHnT GILDHIG6IS]

d. priger euemmiBemen WEaD HBOUL LWLGTLGSHSIUSBETET S L HMDH 6UEGHH60

e. alowL Oxflwealsdensv

Which year Proxy Voting System was introduced those who are serving in the Military?
a. 2003 b. 2004 c. 2010 d. 2018 e. Answer not known

abhd LB SrTamlausHHed uewil  UfueuTseT Smisefller agmiuTs ugHed and@ Dieldb@b
(s OBmewi(h euyliLl L gi?

a. 2003 b. 2004 c. 2010 d. 2018 e. alenL QxfNwelevenev

Factionalism in politics is the demerits of

a. Party System b. Electoral Competition c. Democracy
d. Coalition Politics e. Answer not known

SIFweded LleeyeunHd eTeiilghl @(h SLDOUHD (GEmBLTLTEGLD

a. a4 (pos b. Gxirgmed Gumiig C. 2GIBMTUISLD
d. el Lenll @duied e. alewL  OgMuwalsdensv

Which organization is exempted the from Right to Information Act?

a. Educational Department b. Highways Department c. Intelligence Bureau

d. Corporation Offices e. Answer not known

SHB6U60 Pl o Menod FLLSHHeHHEH alevb@GLl GUBB el 61g%I?

a. s6evalls HMB b. OphEhFTMeVSH SHimB C. 2 6MeYSH HIemnm LiewlwsLd
d. oIEEIT & SIEVIeUEVEBIHET e. alewL OFfwealedenev

In the Kesavananda Bharati Case, the Supreme Court declared that
i.  the preamble to the constitution of India is not a part of the constitution.
ii. the preamble to the constitution of India is a source of power and a source of
limitation and prohibition.
iii.  the preamble is an integral part of the Indian constitution.
a.ionly b. iii only c.iandii
d. ii and iii e. Answer not known
Cagautenhd UTTEH PSS o FFHLAMBLD 6eupmIS W  STULNET  FTITDFIONSS  SHLDDHBEIL
FBpIBeled 61l .cTemeu &iflwimerensy?
i OhHu  SpduempiLg  FULSHE (PHa]  SSITAWDILE  FULSHG @b
SIBIBLOGOGV.
ii. BhHwu  opfuemnliug  sULSHS  WEa®), OPFHEMMHSHE  CHTBBIAMLITELD
SIFHNBMHMHH S BLULGSHSHID uIbLIBEG © L UL STHOD 2 (HeuTdhSLILILL Sl
1ii. (P& 6TeTLG @b DIFFWeOmIOLIL] FLLSH QhBISmenihsd LGHWTSLD.

a. 1l @B b. iii i B> C. i ommib ii

d. ii @b iii e. alewL OxfNwaledenew

Which of the following are the limitations on the sovereignty of the Indian Parliament?
1. Fundamental Rights 2. Judicial Review

3. Federalism 4. Written Constitution

a.1,3and 4 b.1,2and 3 c.land 2

d.1,2,3 and 4 e. Answer not known
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145.

146.

147.

148.

149.

&1p GamevevlIL (BeTemeuBmieln @bl UTTTEHLOGIBSHSH T EeDBUITETNIODHE 2 _61T6N  GUTLDL|SH6N

1. 9litemL 2 _Menpdeit 2. pFHLILeTITUI6Y

3. gl LM & 4. eI L SFFuIeoenLoliL]

a. 1, 3 wBmib 4 b. 1, 2 By 3 c. 1 wBmpb 2
d. 1, 2, 3 wBpwd 4 e. alewL QFfwalsdensv

Under the Indian Citizenship Act 1955, one can acquire Citizenship by

i. Birth ii. Descent iii. Marriage iv. Registration

a.ionly b. ii only c.i,ii and iii d.iiiandiv e. Answer not known
@haws Gufleniod FLb 1955-61 S QHeUT SHHUIS GYHNTS CeuewtBOILDGIBT60

1. @bdHwreled LIppbAHmes CeuemiBLD ii. @pFHw eubgmeaueiwns meds GalewiBHLd

iii. @bHweny ewbH(Hbs Gauewt(BLD iv. uuilomwssTsll ugHe] QFUIHHbs Geuemr(BLD
a.i @G b.iiw’ @b c.i il wpgd i d.i, ii wppd iv e. aflew GsMuwaisvemev

Which of the following is/are true regarding Directive principles of State Policy?
i.  Directive principles of state policy are enumerated in Part IV of the Indian
Constitution.
ii.  Court can uphold the validity of a law on the ground that it was enacted to give
effect to a Directive principle of state policy.
a.ionly b. ii only c.Bothiandii d.None of these  e. Answer not known
SpHewILeuBpleT aufam B Gppipenss  Camiumpser uBp GEFTeLeOLILL L eneudbehelt  Fifluimen
Bl 61gl/ eTeneu?
1. st OpBipomps CaTiurthser SbHul PFMWLLILF  FLLSHHET  BIGISTLD
ugdHuled (Part IV) @@l tiud Geiteng).
il. auflaT B OpBipomps Gasrurthsele W SUBBLUGL FULRSMmeT HHLDGIBLD SHeIS
DIHBTTHHG CLPGOLD STV IIBIGHS  (LIQULD.
a.i @b b.ii G c.i i il ByemED
d. @mau g&ILNevemev e. alew O flwaledenev

Who will act as the President of India when the office of the President and the Vice
President are vacant?

a. The Chief Election Commission b. The Prime Minister

c. The Chief Justice of India d. The Speaker of Lok Sabha

e. Answer not known

GLRWISHSH HMEVaIT LOBBID HWeWT GHLRUTHS SHMeValT LS G mSeT STelwTd G (HHGLD
Gumrgl GLRWISFSH HmevauJTd OFweoLIBUeT wmT?

a. Mg BCHTHE SLEMEIUID b. WysLor

C. 2 §F BHFHDOGB HMeveMD BHAHLIG d. Gevrdaum FuUMBTUIGT

e. alemL OFfluaisdensv

Under which Article, the parliament has power to give financial assistance to the states?
a. Article 235 b. Article 245 c. Article 275

d. Article 265 e. Answer not known

abd  elduler &S, UTITEHOGIBD  THEVEISEHHESG bHHUSHe] DelbGh DS ST
CumBIeTengI?

a. elg 235 b. alg) 245 c. allg 275

d. elg 265 e. alenL  GaMuwaisvemev

Which of the following anti-corruption bodies were established by the Santhanam
Committee recommendation?

1. Central Vigilance Commission 2. Central Bureau of Investigation

3. Lokpal and Lokayuktha 4. State Information Commission
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150.

a.land 3 b.2and 4 c.land 2

d.3and 4 e. Answer not known

Uesteu(pd oarped HGHLIL Siewoliseflled Fhameard @ ufbaiengumed mpieulillLenel Wimene?
I. wHHw o6mped SHBHLIL SLEDETUID 2. DGHHUW IFTTENENT HLENEIILILD

3. Georsumed o@D GeomsmusbaHT 4. 1LOTHL HHEUD LENEMTLILD

a. 1 By 3 b.2 wBmb 4 c. 1 Bmib 2

c. 3 wBm 4 e. alewL OFflwealsdenev

Consider the following

Assertion (A) : The one stop crisis centre supports all women above 18 years of age
affected by violence.

Reason (R) : For girls below 18 years of age institutions and authorities established under
Juvenile Justice Act and POSCO act, 2012 will provide support.

a. Both (A) and (R) are true and (R) is the correct explanation of (A)

b. (A) is false and (R) is true

c. (A) is true and (R) is false

d. Both (A) and (R) are true and (R) is the correct explanation of (A)

e. Answer not known

FgBm (A): QM  Hewew OBHBHY MWD  UET(PMHBULITEL UTHSSIULL 18  uwHISE
GuoBUlL SMaTHBHI CUETTHEHEHSD 2 H6 SHBSHI.

amyenid  (R): 18 euwgidb@ @GHempeuter GUENT GWHMmSIEHHEG FBTT BHHF FULLD LOBHBID
GuraBam slLb, 2012 cpeold HIBICUILLL HBIGUAIRISEDHD, DHSTTHEHD 2 SHa|euT.

(A) oppd (R) ByewihGuo s wipid (R) eemug (A) elBsrer gilwmer alendasid

A) s (R) &

(A) afl (R) goum

(A) oppd (R) SyemGGwo gf wimpd (R) eemgs (A) elBarer sflwmer alendaioeieo
alenL  OFflwalsvensw

oo o

44 | Page PH: 044 - 24339436, 42867555, 9840226187




